UGC NET 2021 Buddhist Jaina Gandhian N PS

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

JITUT F fEq 77 A weT & a1y 9T T51 % I AT ¢

frwfafag aroft 5 faafaaras & a7 - saw favat & (T-us) *1d g aeqrasht S 1 Iiqad = T AeqTaHhT a9a7
HEATIAHTS & ATITT FT TeqT wdt g Frafaaraa § 19 qesarast 1 g&ar 1600 § Lol # 33 73 s F8T F a1y 9T I 1-
59%F % IqLQ ¢

HEATTHT F7T FAwTae ST !
T Brearaat 1 qRrqaar (%)aeaTa® T AEATIAFRTA FY qrAqTAT
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

faAwg-C &/ sreqra®t #F1 @ 4T, fawg-D sz fawy-A 7 gftnfag v & qearfysrst ¥ ga dear F10fqq7 8 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers



Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

T A Qg T AFET F YT I T & I7< 1w

frwfafa areeft R Reafemae & o7 - oo fAaat § (T-uH) FTET Teq19Hht FTII7qT S T AEITIHT AT
FEATIAFTSA ® ATITT FT TeqT FAT & Frafaaraa § £ Fearasi 1 9%ar 1600 § TV § 3T T3 {AFST B AMATTITTT 1-
5qF H ITLQ ¢

ALATTHT FT fATTITT T2 :
o BreaTadt #Y TIATadT (%)AEATTF T AEATIAFTAT % Trerqar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

Aw7-F # 57 AeqTaHhT #71 G&q7 T fIoww-A 97 fywg-B & aftaforg o q qearasi 1 d&a7 & 1+ fraarsiaw g ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

IOt F T g SAFET F YT I T & S7C AT

frefata aroeft R Reafeemae & v - s fGuat § (T-us) F7Eq Teqm9HhT FTIq0aT 7 T A6 797



HEATIAFTIA F FTATT FT TeLT FLAT & Fraferrarg & 7 sreama®i #1847 1600 § ATV 7 XA 77 sAFST 3 aw0gr qT 97 1-
53F % ALK ¢

FEATIHT FT frwaare 27 :
o BreaTadt #Y TrATadT (%)AEATTF ST TEATIAFTAT %Y Trreraar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

fAwa-F & sreatiustsi o @&a7 st fa4wa-C § sreamast %7 g7 & 79 fraar faxg ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Tt F T g {AFET F YT IT T & S7C AT

rerfafaa areeft frdt feafaaras & aaw - a7 fawg & (T-us) F1dq Teqraswt ® 1 7faqq §7 shT Aeq1aHhy I97
HEATIARTA & FLATT HT TELA FLAT g Frafa=maa & {9 sreqmaHh| F1 AT 1600 § ATO 7 77 77 A FST 3 a0gr 4T 94 1-
50F % 9SS ¢

FEATYHT FT fATIITT T2 ¢
o BreaTadt #Y TIAqTadT (%)AEATTF AT TEATIAFTA %1 TrAarqar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9




What is the total number of male teachers in the University?

e & sreaTast 1 o g&ar fradr g ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

FITUT F fEq 77 Afwet & g1y T 7591 % ST AT ¢

frafafaa arooft et Rrafaemeag § o - sav favgl & (T-uw) s aearast $1 wfaqq s st qeqrawt aoar
ALATIAHTS ® ATITT FT TeqT wdt g Rroafaaraa F g9 asarast 1 g&ar 1600 § reeft 7 33 73 s F8T S awarx 9T Iy 1-
53F % IS ¢

FAEATIHT FT fAwaaTe 27 :
o [rearast 31 wiraaar (%)wearTd T eaTiwTa 3 wiveraqr
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the humber of female teachers in Subject-E to the number of male teachers in Subject-D?

frea-E & sreamiasrst #7 G877 F 7fvad w7 aqara fAwT-D 7 sreqrawi 71 §6qTF7HFIATR ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]



Correct Answer :-
e 5:9
[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

TF ALATTF FTLT IT8 F TEHIT & A7 T fq & afadasfiear staar argar 1 f5a 0 & qrar91ar g ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/f=a= a1 [Option ID = 14521]

Instructional variety/afafxr farfargar [Option ID = 14522]

Comprehension/dH= [Option ID = 14523]

. Procedural knowledge/sfFaTewe =T [Option ID = 14524]

A w N =

Correct Answer :-

e Thinking curriculum/f=aw atsr#w [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

TTTT GLFHT F FAAT HATHAT FIXT ATIAT TH. .. T, (MOOCs) TTT FIH FL T (SWAYAM) T & =g &t aa1a (Fesrrefm
% forg foraa aqd# 8 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
1. 2 Quadrants/2 g4 [Option ID = 14525]
2. 4 Quadrants/4 =2 [Option ID = 14526]
3. 6 Quadrants/6 === [Option ID = 14527]
4. 8 Quadrants/8 =rqd® [Option ID = 14528]

Correct Answer :-
e 2 Quadrants/2 == [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement II: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

f=a Srsgafag T :
FIT- | : FAFTA AT ATEATR TTR 4 7€ FTIT® I70F A A8 4T B T T2F 07 SATT R EA §

AT - || : gaTa % I afs TF qras qrar< e TE 4T, TV STHTU TqT FHSIL AT g M F=q 7 g7 e srar g
AT F1 TF: ST T Frar 7 awar s g oiew & Rgm gy Srar g

SYUF FIAT 3 AaATh q, 9 feu 17 fFHeai & § gg7 ITTF7 977 71709 ¢
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/®=+ | 3 |l Z41 @&t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/=¥ | =% || F=t T & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/®a= | T2t 7, f3eq Fa= [l 7@a g [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/®4+ | orq g, foheq w21 | F€T & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/#a | &fi¥ || ST @er & [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory
C. Motor skills lll. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

g -l FT gt -1l F gERE fiivg



g T -l =T -l

(afeas® FT g Feft F) ACREIRS)

A, JTT I safafga eqgfy
B. AT Il. HTafafers e
C. TefirT Fraw (WreT fXwew) . g=a® e

D. STEATI AT Iv. et arfirs egfa

A9 frg g fasweat & @ gt sacgfw:
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll, C-1,D - Il [Option ID = 14533]
A-1ll,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1l,C-1V, D - Il [Option ID = 14535]
A-11,B -1V, C-1ll, D - | [Option ID = 14536]

A wWN =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:

FAZTLATE STeAT & fHT EATATHS G & g7 5299 w1 aAriyE fparsrar g «

A. gEIiEHT

B. =7 fgfzuwr HTaT

C.9Hd

D. FqTeaT

E. 919

19 frg g faseai & @ 98 ST ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/#a<T A, B, C

[Option ID = 14537]
2. B, Cand D only/#a« B, C, D

[Option ID = 14538]
3. A, Cand Eonly/Faa A, C, E

[Option ID = 14539]
4. C,DandEonly/#a= C, D, E

[Option ID = 14540]

Correct Answer :-
e A,BandConly/#aaA, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

aTe F A T g7 HATATeAF M arfeas gf¥arom & 97 § T Sqvfiz g9t qT ey afvaq w7a & ar g4 Fufafaa d @
FATFHETATATE ©

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/AT<1aTs [Option ID = 14541]

2. Ethnomethodology/TsTafa=Te [Option ID = 14542]

3. Constructionism/&Z==TcHdT [Option ID = 14543]

4. Positivism/frramersrar [Option ID = 14544]

Correct Answer :-



e Feminism/aT<aT= [Option ID = 14541]
7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

et afcgenT & g & &1d 3@ a07 oy F iy vgfoat, ssaaa aagl e s srearat fa=arai 3 dars w1 Fg9 & ¢
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/ =i [Option ID = 14545]

Content analysis/ {3 aafT fZoor [Option ID = 14546]
Corpus/#T9d [Option ID = 14547]

Mediation/#egerar [Option ID = 14548]

A wWN =

Correct Answer :-
e Triangulation/frss [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

hFeT FAFwor 71 dvsw agfy & forg saa1 @ afiswq $ rga A

A. ggEdg AfcFa & TAF ®TAT | TR HT ATHA FHHTA

B. agaay & ®frgd 1 worar #X

C. FTAFT HT TR (T) ITH H

D. TAF HTAT B FITHA H1 (T) B Fiqer & fasrivg #%

A9 frg g faseai & § 9y S9T A -

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

1. A, C, D, B [Option ID = 14549]
2. C, B, A, D [Option ID = 14550]
3. B, A, C, D [Option ID = 14551]
4. B, C, A, D [Option ID = 14552]

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il

A- I. Number of individual items are developed into

Arbit

rotrary a test which is given to a group of respondents
approach
B.
Consensus |ll. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

lAnalysis  [some ranking of items with ascending and
approach |descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . L. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

A - FT gt -1 F gaRi fifve
gt -l gt -l

A. ITf3EF | AAT-AAT TSI FT G&IT HT TH I3 & fasira fFFar srarn




kfﬁ?ﬁw ? R SaeeTaTe 3 g &1 fearsrar &

B. adfavaa II. g sraTT g 9Ty #1 fawfyg frar srar s
g e
c. 7% I, st T sra Ot Frstesr afw afgg gy aat a1
fargoor
ST AT ATTIAT B AYT AT AT
gfEsror
D. =t |Iv. for@a # arfya 3 3 fog g+t wg 7931 w1 qeaiFA

AT Fﬁt?r % forg forfast &1 da
= fxg g fawedi & & gy sac AT :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14554]
3.A-1L,B-IL,C-1,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1lll,D-1

[Option ID = 14556]

Correct Answer :-
e A-IlILB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

= ST syafaug g :

FT - | : fGsrard doqr orret FToMATT2 ]

FI9 - || : fgsrard 0, Iqqqq e G979 &Y grar g Hary 39 5 agsrdraw@
SYUF FIAT B AATH q, A1 feC 1T fAFHeqi & § GgT ST FT AT FI1{9Q ¢

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/=®== | 3ii¥ || F=1 77 & [Option ID = 14557]

Both Statement | and Statement Il are false/®= | ¥ || 2T /97 § [Option ID = 14558]
Statement | is true but Statement Il is false/®=7 | ¥e7 g, f3=q F9 || s/ § [Option ID = 14559]
Statement | is false but Statement Il is true/== | s g , feq w1+ |l 7 & [Option ID = 14560]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are true/®=+ | 3ii¥ || F=1 77 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

THUET FTAATYTT A B T0C TF 9 F Ara afy® § orf¥rs sraro=aries argra-vw=17 g @ -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

1. Vertical communication/3&aTe¥ FIoT T [Option ID = 14561]
2. Horizontal communication/&fast 39T %7 [Option ID = 14562]
3. Risk communication/sT&® &39or T [Option ID = 14563]

4. Personal communication/3a < TST FT [Option ID = 14564]

Correct Answer :-
e Vertical communication/3&atarT ST T [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language
B. Assertiveness

C. Opening feedback channels



D. Taking credit for oneself
E. Use of affirmative words

Choose the correct answer from the options given below:

frwfataa 9 9 ot gt arfers G9wor Fraa & T F 1 A9 8
A. SUFTHAT ATAT FT TLIT

B. swwfyar

C. FITIF F FTAT HT ATILTH

D. TqF F1 T AT

E. TTRTIHS AT T TINT

= fg g fyweai & @ gt ST HA ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/#ae A, B ¥ C [Option ID = 14565]
. B, Cand D only/#== B, C 3fiT D [Option ID = 14566]
. C, D and E only/#a= C, D =T E [Option ID = 14567]
. B, Cand E only/#a< B, C ¥ E [Option ID = 14568]

A wWwN -

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

A9 ST wuT g aCd

FIT - | : FIHTAH ATHT, ITAS TTHT HT AT FAT &

FIT - Il : FT-FTfF TRAT FT AGATHTAT o7 GraT 8

SYUH FIAT B aars q, A2 foq 1g fFHedi & § gg7 AT F7 977 F170Q ¢
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/=® | ¥ || Z1=1 77 & [Option ID = 14569]

Both Statement | and Statement Il are false/®= | 3T || T s=<T & [Option ID = 14570]
Statement | is true but Statement Il is false/®2 | Te7 g, faeq F |l srrcx & [Option ID = 14571]
Statement | is false but Statement Il is true/®=7 | /7 g , =g F4 || 97 § [Option ID = 14572]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/® | 3iiT || S9 77 § [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

FATTE GAT0T 1 At & G 7T AT qgATT AR ¢

A. 99g g1

B. §WTsAQT H@T

C. I FEAT

D. U 1< gar

A= fegarg faseai & @ gt ST HA ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]



D, C, B, A [Option ID = 14575]
C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

g -l FY gt - F gR T v

gt -l gt -l

(& wor ) (Frarward)

A. TTias I. §Y9or Togt

B. Tqef farsrrer Il. quFAT F ST AT
C. AIqTH Ill. §HTT HT ATEIAT

D. gidfa® IvV. oot & gafag

19 frg oy fasweat & @ gt sacgfo:
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-1l,B-1,C-1V,D-Ill [Option ID = 14577]
A-11,B-1l,C-1,D- 1V [Option ID = 14578]
A-1V,B-Ill, C-1l, D -1 [Option ID = 14579]
A-1,B-1V,C-1ll, D -1l [Option ID = 14580]

AW N =

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8,6,4.5 3.5% ATHA T ATAT FIT-AT SFH ZIT ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-
e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XBQEY FTHATTATE ATZ I ATAXFTAATAATE T AT d qrg afeafqra sa @ 618 Z, Y T X & qra waer: fraa g ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

1. 25, 16, 20/25, 16, 20 [Option ID = 14585]
2. 20, 16, 12/20, 16, 12 [Option ID = 14586]
3. 25, 20, 16/25, 20, 16 [Option ID = 14587]
4. 16, 20, 25/16, 20, 25 [Option ID = 14588]

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter”.

How is the man realted to Kavita?

TF R | TF ATH 71 @@ grsATT 757, ag AT ATATF T AT FTATE E SuATH @ wfyarsraarfrearg ?
[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]



Nephew/sTfi=IT [Option ID = 14589]
Cousin/==<T ATE (For) [Option ID = 14590]
Uncle/=T=T [Option ID = 14591]

Son/T= [Option ID = 14592]

A W N -

Correct Answer :-
e Nephew/TfisIT [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

A9 Y waT e :

FAT - | : TF fuae & frdt facast F1 a7 gd, a2 N gd @ 5° ot Ig A1dt 8

FI7 - 11 : % e T o 1 gzaf uF & Rafa 7 o a297 ¢E FT@T & a1 1 LAt 64 Tz 913 uF, g § A
SYUF FAAT D AATH §, A1 feC 1T fAFeqi & § GET ST FT AT FI19(Q ¢

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

Both Statement | and Statement Il are true/=®== | 3ii¥ || 21 77 & [Option ID = 14593]

Both Statement | and Statement Il are false/®= | 3fi¥ || ZT s/T § [Option ID = 14594]
Statement | is true but Statement Il is false/®= | ¥e7 g , =g F9 || 3T § [Option ID = 14595]
Statement | is false but Statement Il is true/== | 37 g , feq F+ |l wrex & [Option ID = 14596]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are true/®=< | 3ii¥ || Z=1 7T & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is ¥18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choaose the correct answer from the options given below:

fFafefad eyl R fdaR &

A. T SR H g1 773 46% 1 e, dH IR H &1 715 10%, 20% 3R 25% Fel & R 5

B. Uh HISI5d Bl 20% P1 1iF U 14500 ¥ H o9 91l &, Hidlgd @I dFTd Hed 18225 % &
D. TG g, g g 1 1 Al eiH 28% ©

il fgu U fydedl & € W81 S I :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/#a< A 3fT B [Option ID = 14597]

2. Band C only/#a= B ¥ C [Option ID = 14598]

3. Aand C only/#=< A 3fiT C [Option ID = 14599]

4. Aonly/#=<T A [Option ID = 14600]

Correct Answer :-

e Aand B only/#=<T A #iT B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

fawfafaa d @ F17-973% 19 g 1 =afw & fraray sicofifRafaat & fiaddgFr=aF F @R

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]

1. Argumentum and Baculum (force)/#R[#ew UT S%a# («rf<F) [Option ID = 14601]

2. Argumentum ad Hominem (circumstantial)/sm{#=w = grfemw (afifafas=) [Option ID = 14602]
3. Argumentum ad lgnorantiam (ignorance)/s[Hew T AT fed (ITAaT) [Option ID = 14603]




4. Argumentum ad Verecundiam (authority)/sm{HeR T=ai®2a+ (ITfa#17) [Option ID = 14604]

Correct Answer :-
e Argumentum and Baculum (force)/sIN[HeR UE a«w («If<F) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

$ arEat @ fAet a9 7 af7 gy grew aqar A " qacg g, A affya 7 @ v gz srafi ararSrasarg
A, gt 9TET ATITAT ] A &

B. "£F 3€T AAITAT R T §

C. "g¥Y ggTT AOITATR" LT §

D. "®IE TET AAITATAR & AT §

1= frg g faseai /@ @ gt S HA ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

A and D only/#a< A 3T D [Option ID = 14605]
A and B only/#a< A #ii¥ B [Option ID = 14606]
B and C only/#=< B 3T C [Option ID = 14607]
C and D only/#== C 3w D [Option ID = 14608]

A W N -

Correct Answer :-
e Aand D only/#ae A == D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

afafeg FI7-97 [T THITFT d AHTT AT AR FT TET €T | T9¢T FLATR ¢
g+t FTTE swen-fasaret g9 8

areR-frsary Wi #rE o« =fw arfds 9 Srar

gafag #1% o afas =i =rars a8 grar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]

1. AEE -1

[Option ID = 14609]
2. AEE - Il

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE- IV

[Option ID = 14612]
Correct Answer :-
e AEE - |

[Option ID = 14609]
24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by



FTAT ST T TETAAT & IITAT B TR | ATAHTA ITH FIAT 8 51 &7 afRaeq yariorg fFarsrare fAw & @ foras g

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/3{HTH THTT g1 [Option ID = 14613]

2. Sabda pramana/9rsz JHTOT ZTT [Option ID = 14614]

3. Arthapatti Pramana/=r=ITaf<r g1 [Option ID = 14615]

4. Upamana Pramana/39HT JHTIT 12T [Option ID = 14616]

Correct Answer :-
® Anumana Pramana/sTqATT AT 511 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

FTA % 5T Ta=T ®T 77 ATT F1 TETIAT | 917 &1 Frar qrar g

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/9e@e [Option ID = 14617]

2. Inference/sHTT [Option ID = 14618]

3. Word-testimony/<rez JHT9T [Option ID = 14619]

4. Comparison/39|TH [Option ID = 14620]

Correct Answer :-
® Perception/T<7&T [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

FYT QIFEIATH o g d FreT wiafaias srofer freea At Frawarst & fawfafas arfya g §
A. f2 32T - TATHT T Y F 17 G907 7 F7AfT 29T ]

B. AHIET T & - TAIT T W@ NATHT T i st & g s o a9 (0T € UA) &7 a7 T F7g) 91T SAT58H T A FHET
FX LAY 7 |STTOr

C. THTHT T ATAAT - T T STTTAT (LS T ASTYLE A1) &1 A 37 w71 7 wicely Sargad & T warer g et =71
g WTAAT

D. $TTAT UEH - EIAC UL AATA ® RF o= 7217 FIAT
19 frg g faseq & /@ 98 ST ¢
[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/#ae A, C ¥ D [Option ID = 14621]
B, C and D only/#= B, C 3% D [Option ID = 14622]
A, B and C only/#a A, B i C [Option ID = 14623]
A, B and D only/#=T A, B i D [Option ID = 14624]

A W N -

Correct Answer :-
e A, CandD only/#ae A, C &% D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |l. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML




Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gR g A

gt -l gt -l

(EERL) (ST THATHT 77)
A. strgdez g & forg dvas forgar a ae |

ATEE AT 9T 3GT ITT - ATSSR

B. gexdT T I T FAd I F frg oy, o4 n g
STTT FT ITL T TR FHOLET - TH.ELEAT.

C. 2Tz qT grafie od wide g a1 §ASw

@Y o weAT . =TT,

D. AT IFEA YT AT TATHTAT hT 3ETAT U
Fﬁqﬁ’z AT TER FATYAT HT AFAW/I@A B AT ||V, TTTAE I

qTAT BT

A9 frg g fasweat # @ gt sacgfw:

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-lILB-IV,C-1,D-1I

[Option ID = 14625]
2. A-1,B-IV,C-1l,D-1I

[Option ID = 14626]
3. A-IV,B-1II,C-1,D-Il

[Option ID = 14627]
4. A-1IL,B-1V,C-11,D-1

[Option ID = 14628]

Correct Answer :-
e A-IIl,B-IV,C-I,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

ERY FIUE & e 79 & ot v eaw fearsd@q &1 swafega A

A. .Y S
B. @T.€1. - O W
C.sqR

A9 frg g faseat & @ 9y S9T A ¢
[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A [Option ID = 14629]

29) Given below are two statements

Statement I: An operating system controls peripherals, and allocates memory and processor time.



Statement II: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

fa T FgTfeg s :

FAT - | : TF A few fRreew IRdww #1 fAafeag s7ar g, AT AAG AT NAATIAT FT AE ST FIAT &
FIT - | : TF AHqFET feay ez TFAT TIT9 AT &

SYUF FIAT 3 AaArs q, 2 feu 17 fFHedi & § gg7 ITTFT 977 FI{70Q ¢

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

1. Both Statement | and Statement Il are true/®=¥ | 3% || Tt @7 & [Option ID = 14633]

2. Both Statement | and Statement Il are false/®a | 3% || 1=t st&<T & [Option ID = 14634]

3. Statement | is true but Statement Il is false/®2 | T 2 , faeq % |l srrca & [Option ID = 14635]
4. Statement | is false but Statement Il is true/®=¥ | s/ § , =g Fa= Il ¥ T [Option ID = 14636]

Correct Answer :-

e Both Statement | and Statement Il are true/® | 3iiT || S 77 § [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

freifFrg & @ F17 I sr.g.ars. (@FFFa go< $eThq) geF g T g fAFeqi & § TF F7 A9 9 T4 f65A7 797 8

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
1. Scroll bar/@#ie & [Option ID = 14637]

2. Push button/ger a2 [Option ID = 14638]

3. Progress bar/¥ &< [Option ID = 14639]

4. Radio button/f==T T2 [Option ID = 14640]

Correct Answer :-
e Scroll bar/&Hie ¥ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

fawfafaa d @ Fr7-97 7 g7 AT AT w9799 F FROUTET AT ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/sTaEetr 12T [Option ID = 14641]

2. Melanoma/J=T=THT [Option ID = 14642]

3. Ocular damage/== &ft [Option ID = 14643]

4. Erythema/=a{=ruT [Option ID = 14644]

Correct Answer :-
® Bronchitis/ =T 921 [Option ID = 14641]

32) Match List | with List Il

List | List 11

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals [excessive growth of algae etc

Choose the correct answer from the options given below:

A - FT gt -1 F gERiH fifve

gt -l gt -l
T TETHT BT T SITET / SATEIT

I arg st sftraty g faafea s fas
srafarg

A, TSR HTIH




E. HFATTIATR || ey o, BT argd & s

™ srqfre
C. ateT & AFTd foF .
I I, sfraroy, wsfrarop (rerstram) | gearfy
D. I # gAFATH IV. 9 § gaq9a Ar52 T T wiehe dara

CEACIECRCIDE S FWT& it arfy gfg w33 €
= fyg g fawedat & @ ggy sac AT :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-Iv,C-1l,D-1lI

[Option ID = 14645]
2. A-1l,B-1Il,C-1,D-IV

[Option ID = 14646]
3. A-1L,B-1,C-1V,D- Il

[Option ID = 14647]
4. A-IV,B-1,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-Il,D-1ll

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

A3 Y wuT e d :

F99 - | : afg:aTa A stArfAaT Frwrwar 7 gfa arsdscow w1 aforma @

FIT - |l : FAATTEFHTT | ST FTATAN FLATISES FT ATISIAT AT | JIATAT FLA §
SYUF FIAT D AATH §, A1 fU 1T fAHeqi & § GgT ITAFTIIT FI{97Q ¢
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/==w | fi% || Ft @&l & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/== | ¥ || E1=1 a7 & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/#a= | @&l g , feq %o Il @ & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/®%¥ | 7@q g , faeq w9+ 1l &t & [Option ID = 14652]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/= | 3fi% || 1=t @&r & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

I TF TRTS (AT § ™I FT ST orafre o1 & #97 & F # Fravrar 8.
A. ST fAdfag ta garat Frgemd ®

B. iz tfasfra g A9z & farg

C. ¥« T A () FT g A

D. SIS F ATATAT FSTLATHT gETA A

A9 frg g faseal § @ 98 ST ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, Band C only/3 A, B ¥ C [Option ID = 14653]



2. B, Cand D only/#=< B, C =< D [Option ID = 14654]
3. A, Band D only/#a< A, B 3fT D [Option ID = 14655]
4. A, B, CandD/A, B, C 3T D [Option ID = 14656]

)

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 14653]

35) Match List | with List

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. Halons
C. C2F4Cl; Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gAY g .

L= -1 /T -l
arsrre e wared ATH

A. C3HF7 I. HCFC
B. CoFHsCly . &JT=q
C. CoF 4Cly lll. HFC
D. CF3Br IV. CFC

= few g fawedi & 4 gy sAC AT !
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B-1ll,C-1l, D- IV [Option ID = 14657]
2. A-1Il,B-1,C-1V,D- Il [Option ID = 14658]
3. A-Il,B-1IV,C-1ll,D-I[Option ID = 14659]
4. A-1V,B-1l,C-1,D- 1l [Option ID = 14660]

Correct Answer :-
® A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g I gl 9T Sy forar gearat 7 qaifas deav @ :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/9TZa [Option ID = 14661]

2. China/=1 [Option ID = 14662]

3. USA/Z.tA.T. [Option ID = 14663]

4. Russia/%d [Option ID = 14664]

Correct Answer :-
e |ndia/«Td [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

afafeg F1 398 757 77 FTAFATIR FI97 FAf™C
A. ETETT AT

B. ST ST

C. &5 wrdgq (Fraza)

D. TS E FITAT (TATA)

E. gs fRedw

A9 frg g faseat & @ 9y S9T A ¢



[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

E, A, B, D [Option ID = 14665]
, E, B, A, D [Option ID = 14666]
E, B, D, A [Option ID = 14667]
B, E, A, D [Option ID = 14668]

)

)

HwnN
aNaKaNs)

y by

Correct Answer :-
e C,E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

Fafafea d@ @ 198 aifafas faa e :
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

A9 frg g faseal § @ 98 ST ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/#a A 3T B [Option ID = 14669]
C and D only/#a= C 3T D [Option ID = 14670]
A and C only/#a< A 3T C [Option ID = 14671]
D and E only/#a= D 3 E [Option ID = 14672]

A W N -

Correct Answer :-
e Aand B only/#a< A 3% B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

T T 9T FT TATyAT FFa SRea @ g g g ?

A Rqr & I frerT & g ema AT FATAIAT HY T@TAT AT

B. fraafaerrard forar & wrAst &1 aweayw, Fratww sz 3gwa

C. I ¥ I farear aF ag= =7 q@TA7T

D. fr=afyaraat s FIAST FT ALITAT HT FATLT FLAT

E. €9 9T UST GIHTU M 7 for@r aferww gearay & = wgaqel #3873 €7/ 97 IS FIAT
= fag 7y fawedt & @ 9 ST HT 77 FIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/#a A, C =i E [Option ID = 14673]
A, B and C only/#=<T A, B ¥ C [Option ID = 14674]
A, B, C and D only/#a+ A, B, C 3z D [Option ID = 14675]
B, D and E only/#a< B, D ¥ E [Option ID = 14676]

A w N -

Correct Answer :-
e A, CandE only/#a A, C 3T E [Option ID = 14673]



40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR |ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education
D. ICSSR |IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

g -l FY gt -1 F gR T A

g -l =T -1l

A. AICTE ||, SSf9ITel ® SIqEETT T TETAT

B. ICHR Il fIgTa & SATHATT FT TBTAT

C. ICPR lIl. TFATHT Fr&T 71 oA F T F@TAT 97
D. ICSSR  [IV. araTio® fAa7a1 # SATH 1T Y TTAT

19 frg g faswear & @ gt sav AT
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D-1V[Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
. A-1V,B-Il,C-1ll, D-I[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

o wo e ® 7 v s AR few e vt # 99w e

TATHN S TRSHT TF 9 - SMATHY AAGTT § ST g¥q0f <97 7 faforey 41 § silRqzaar swfd«, amarfos, aadifas @z
giegias - arariors st & T gggs #1 aarfag w37 S gt g @9 g & g ga gu; a8 ass, STagg! st snfs,
qraTirs s T aiegfos w7 & afgsga aqgt o< 17 A faq war § A ara & 78 a5 ararfors €7 g8 AN T ITHT
Rafy & g fAFTAT FTFHTE 7 ATF TF TTEATT T FIAT R B B TATS ATIIAAT 3 AGT # T TT ST I ATHTIT
TfrHt ZOT § 95T U ET R FAGTAT FTEATTATH FI @I & 9 A5 H1 ST, ITE0T § T&T THATHT 3979 M A{IH
QAT F TS ST - AATTNF GHTT & qrATirs FHY & TIqa TaeT 1 T AT T7778 D TF 7479 F7 v fhq w3 &
Sargeer & foag ufdaw amarire fraves Y g gt rdY THeaT F 1 srgsra FTIET § ST gaforg g1 Tgr & #4116 agt a8 aaa 1
FASETY, TFAT ATATAT ST FEATURTA TST & A ged 31 aiafafEray ardft 91 @t § woreass 99 g qararirs aqgl # 1
SEAETIETE AT @A F | fATe 7R 917 o194 §; 77 shenrfors 787, qawardy, Irdas 998, 'Ha afaqraw
ofdra & T4 qrartfirs aueatal & g5 999 & ararios afgswe @ s ag7dt § a5l 7 Agaqy 42 geIae Faed

g TI9 FAT AIGTIOT | AT ATIHSA ZraT & 7 fagoor grar a8, stgaraar, 97 31 & 4% Ff¥ys wwaarg haas & agd
TET 9T FRAT ST T AT THIT ST ATHF Ageaqur, T3 FAT T8 Ja g0 T AT qFieT 8§ fawra sFgear @Fem) & afafew
faeaTieg fFaT SIT @R AT 2 397 T ITTFT TF @ IFHT FT ITE T ST, TF VHET Rafy Rrad agaes a7 g+ g7 @ s yEt
fRafy Rrad sgaeas a7 707 g1 2 e €7 & 70, AFTTAT, 49 gHITA AT ARATA AT F9 {87 gl 9 fawra Fgoow &
FTYF €9 § 779 frgr a1

The concept of social exclusion is multidimensional because of:



qIATI® TIESHTL HT ATTIT 6T FILT | TEAATHT @

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fafaer gt 7 %3 [Option ID = 14681]

2. variations in deprivations/d= T & ¥=&17 # f¥=dT [Option ID = 14682]

3. the prevalent notion about social outsiders/HTHTSR = & STE<T ARM & aT¢ § T {ord SFemom [Option ID = 14683]
4. social statuses across nations/®quT 3eT # TrwTiorR fErfa [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafay wgl v #faa [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& o et ®Y v ST AR fyw T vt ® 99 e

FTATITF FTIZSHTT TH qF - AITHT ATATIUT § ST G¥ g0 3e7 § Tafore w91 & arfRq<aary swfd+, qrarfrs, asias stz
giegfas - ararirs st 3 fafys ogga w7 aatfae F37 1 geuT @ 399 979 3 fAT g g I U5, IT AR 0 MG,
AT T ATeR{TH €7 § afgeqha T T sATH F (o FLAT § AT T &1 T A5 ATATIE €T & qTgLT ATAT H T SAHT
fRafa & argT fAaTas &7 F1F @ TR T I ATT FT5d FIATR WA 3 TATS ATFAAT 3 AGT § &I €T ITHT I ATGTI0T
of3 T FUT ® 983 gUET A AGTa1 F7 6479 WT0 FIIGT ] 9 a5 &1 Icuf™, a1eqa @ q&T aFAST 3919 AT fGH
QAHEHAT ® IS ST - AATTNF GHTT | UATINF FHY F TIAT €a€T FT [A ATTIOT TATH ® THF TATH FT T80T FIAT &
IR & fog ufdaw ararfrs fraves 1 v gt T IOeaT FT ST FIIGT § T @AY BT TFT & FATTH 98T A9 a7 44T
FTASTH, TFAT ATATAT ST FIATAFTL T[T F 1 g #1 aiafaferay ot 971 @ § waeasq 99 g ararisrs a8l # 7
SETETIETE T3 @O & 1w & AT €7 F 17 F19 §; 7 shenfors 78w, 'qawardy, IOrdhi7 998, "THd A wqra+
afdra & 74 qrartfors aueatat 3 4f5 3 g9 ¥ grarios afgseed s agaat g agl < agagd g8 geaar g s

g AN FAT AT TOT ® A7 A1f7 grar & 5 fagwo grer a8, srgaraar, d99 gearfa & 49 afers oo w#a9s & agq
TgY wara Frar ST aFAT qE AT AfUF AgTaqel, 6 747 39 wrqgTonT 13O0 wfdem & fawra swaear @ fem) @ sfafw
faeqTica AT ST ART 2 AT TE ST AT I @ QT T TTF 7R, TF VAT Rafy Srad agaegs 707w g4t g7 € U ¢
Rafy rad sgaers 0T TAT T ? T8 FT § TS, TAATAAT, 99 HITL AT FHAITA a9 95 a7 i o< fawre Fgoow &
FTIF €9 8 777 fRFra1a18

The new reflection on social exclusion has emerged from

FTATRF qfESH qTAT - fHa7T Fgf § AT gan 2 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

1. The industrialisation process in Europe /7317 # sftzifzor w4t [Option ID = 14685]

2. The arrival of new scholarship in sociology/TRTSIITT T3 qifeed (FHRTAZIAT) T AWTHT [Option ID = 14686]
3. The technological impact on societies/THTSIT 9T T TsT T9TT [Option ID = 14687]

4. The changes in the nature of social inclusion/HTATSIF THTIN & &7 # FgaTa [Option ID = 14688]

Correct Answer :-
e The industrialisation process in Europe/ZZT # sfraifia<ur g [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing



nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

o wo et w7 v ST AR few e wAt # 99w S

qrATRI TESHTT TF T - A THT SAAGTTOT § ST goqor agr 7 fafare w9t & silRqcaarT swf¥+, qararfrs, asdtfas st<
giegfys - arariors Tt & TS gl #1 aarfae #3711 g g 99 g & g ga gu; a8 a5, ST I 9 i,
qraTirs shT aiegfos w7 & afgsga aqggt o< 17 R a7 FLaT § AT e §F 75 458 AUariors €7 a5 A0 FH 7 ITHT
Rafy & g fAFTAT FTFTE R ATF TF T LATT AT FIAT R B T TATS ATIIAAT 3 AGT # [T TT ST I TTGTIUT
TfEHT IO § 953 gUET R Mg FTEATT AT FL (gl & 39 A6 1 ST, ATEqd R L&T qHAThT aqaTd M ATTH
QAETIAT ® I SAL - AATAE GATT & ATATIAF FHT F TIqQ €97T FT [ ATGTIOT FATA F TF 479 FT T2FqT FIAT 8
Sarg e & foag ufdaw amarire fraves & g geftqa Y THeaT £ 1 siqwa T @1 § ST gaforg g1 Tgr & #4116 agt 9 aag &7
FTASTH, TFAT ATATAT ST FTATARTL TS & 11 g #1 aiafaferay ardt 971 @t & weasq 99 QT ararisrs aqgi # 1
STAETIETE AT @A R A | AT TR F0F 919 ;77 shenfors 787, qawardy, TIraa 998, 'Ha afaqraw
ofsra & T4 arartiys aueata 3 g5 99 § arartys afgsw d s ag Tt § a5l <7 Agaqy 4T geFarE Fad

g TI9 FIT ATGTIOT | AT ATIHSA ZravT & v fagoo grar a8, staaraarn, 97 378 F 948 Ffys waarg Ba99s @ agd
T w17 FRaT ST FRAT U HT ATAF wgmAqr, O FAT 3T q@gron F1IANT wfey § fawre swaear @ fEm) F afafw
faeaTieg fFaT SIT @RAT 2 FA7 T ST FT IF @ IFHT FT ITE FTFH AT, TF QAT Rafy Rrad agaeas avw g+ g7 @ s gat
Rafy Rrad sgaeas T 70T 1 ? €78 §T F TS, TGATAAT, 99 EHAT AT FAATA a1 F o Forq i a2 fFywra oo &
FTIF €T 4 779 fRar a1

The post-industrial society and economic restructuring have contributed for

3T - HITErF qaOTs i< ais =T 7 fpas forw avwrare fyar g ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

1. The reconsideration of employment issue/TSIITT {2 9% A=< [Option ID = 14689]

2. Strategies aimed at social integration/&THTSr T Zq @fera vorifaat [Option ID = 14690]

3. Fragmentation of welfare state/®eaTorshT<T ¥T57 &7 fa@<ra [Option ID = 14691]

4. Social disintegration into new deprived groups/aa af=ra @wgt & AT fA@U=s [Option ID = 14692]

Correct Answer :-
® The reconsideration of employment issue/ZISFTTT q W% qfa=e [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& wo et ®Y w2 ST AR fRw T vt ® 99 e

FTATITF TIESHTT TF T - SWATHT ATATTUT & ST G¥qof 3¢ 7 fafore w91 & srfRa<aary swfd+, qrarfrs, astfas stz
iegias - arariors ) & iy ol #1 aarfye 7371 1 g g @3 g & g ga g a8 o538, ST I 9 g,
qraTirs T aiegfos w7 @ afgsga aqgt o< 17 a7 AT § i ara gt 75 o587 rarhers €7 & qg8 AN F 7 IT6T
Rafy & g AFTAR FTFTT 7 ATF TF TTEATT AT FIATR B T TATS ATIATT 3 AGT H T TT ST I TTGTIT



ofrHt ZOT ® 9T gUET R AGTAT FTEATT AT FITGT & 1T U5 F1 ITUMR, ITE0 R T&T FHATHT a2979 AT AfqH
TAGTIAT & FAT SAL - AAIAE THTT | GIATINF FHT F Tqq7 €a8d FT [H AT T B TF TATH FT TqT FIAT 8
ST & fog aftrw grarfrs fagves #1 us gtya grdt Ifar #1 aqwa FT QT ] a1 3@f9C g1 @1 & #+if* agi &9 77 :v
FASETA, TFAT ATATAT ST FEATURTA TST & G ged #1 aiafafEray ardft 971 @t @ woreasq 98 g qararfrs aqgl « 1
SEAEIETE T @A & 1= | fAfye =7 & 513 si1a & 94 senfors 7w, awardy, gardia 998, oHa afaqras
ofdra & 741 qrartfiyrs aueatat & 45 d9g § arariys afgsee # s ag 74t § g8l 7 Agagy 48 geaarE Fae s

& TR FAT ATYTIOT ® AT A7 AT & F7 fAgwor 771 a6, Aqaraqr1, 99 3eq178 & 949 afars s w497 3 989
TET 9279 FRaT 9T FFaqT gIT T ATUF Agmaqwr, O3 FAT 3T TAGTT FT AT qhored § fywra swaear @fen) & afwfew
faeaTieg a1 SIT aRAT 2 FA7T T ST FT TCH @ FHT FT T T DT, TH VAT Roafy Rrad agaes 0w g+ 7 @ s Tt
fRafy Rrad sgaeas 10 707 g1 2 08 €7 & 70, AFTIAT, T47 gHITA AT ARATA ATA G o7 g a2 fawra oo &
TYF €9 8 377 fRgraarg

The scholarship on social exclusion has gone beyond
FrATHrS FfgesH aifew (wFta<fan) god RATIF1E ¢

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/®%=Iei #iT wg= [Option ID = 14693]

2. The conventional thinking/T¥a¥rTa &= [Option ID = 14694]

3. The normal issues of deprivation/@=HT & HTHT=T Hq [Option ID = 14695]

4. Common perspectives of inclusion/&FATI & TATETT T31e [Option ID = 14696]

Correct Answer :-
e The reach of governments/¥#T31 #T Tg= [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

fa wo e ® 7 v s AR few g vt # 99w e

TATHN S TFRSHT TF 9 - SATHY AAGTT § ST gvq0f <97 7 fafory w41 § silRqzaar swfds, amarfos, aadifas @z
giegias - arariors st & T ggga #1 aarfag +37  geur g @9 g & g ga gu; a8 oss, STagg! st s,
qraTirS s T aiegfos w7 & afgsga aqgt o2 17 A faq war § AT ara & 78 a7 ararfors €7 g8 AN T ITH
Rafy & g AFTAT FTFTE 7 ATF TF T EATT T FIAT R BT B TATT ATIIAAT 3 AGT A T T ST I ATHTIT
TfrHt ZOT § 9T gUET R FAGTAT FTEATTATH FILGT & 9 A5T HT ST, ITE7T § L& THATHT 7979 M A{IH
QAETIAT & I ST - AATIAE GATT & AIATIAF FHT 3 TI@Q €q2T FT (A ATGTOT TATT H TF TATH FT TFhT FIAT 8
Sargeer & foag aufdaw amarire fraves Y g gt rdY THeaT ® 1 sigsra FTIET § 9T gaforg g1 Tgr & #4116 agt 9 aag 1
AT, TFAT ATATAT ST FEATURTA TST & A ged 71 aiafafEray ardft 971 @t § woreasq 99 s qararirs aqgl # 1
SEAETETE AT @A F = | fATw 7/ 913 19 §; 77 shenrfors 787, qGuardy, s 998, Ha afaqraw
afdre & 74t qrarthrs guearedt # iy ® g & arariors afgewre @ s ag adt g gt O wgeAqel g7 gEwa A

& TI9 FAT AIGTIOT | AT ATIHSA ZravT & 7 frgoor grar a8, stgaraar, 97 37 & 4% Ff¥ys wwaarg haas & agd
TET ST FRAT AT AHAT FHIT M ATHF Ageaqur, 3% F47 TT AIGTT0T FT JAC afehsq § fawma swaedar @ em) F afafw
faeaTieg fFaT SIT @RAT 2 FA7 T ST FT TF @ IFHT FT ITE IT ST, TF VAT Rafy Rrad agaes a7 g+ g7 @ s T
fRafy Rrad sgaeas 7 707 g1 2 €08 7 & 70, AATTAT, 49 gHITA AT ARATA AT G987 gt 9 fawra Fgoow &
FTIF €9 8 779 frgr a1

The concept of social exclusion is now
FTATHF TIRTHIT FT ATFHT ATGTIOT §

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/ZZri@ @R o &fad fawer (fiw) [Option ID = 14697]

2. An issue of developmental capability/farmaTeas w24 T 72T [Option ID = 14698]

3. A commodity for export from the North to the South/3¥ & afaror #Y v fA=fa % forw a=q [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere /3% Tawq aTeft, Tf2reft Mramd & a1 ST g2 [Option ID = 14700]



Correct Answer :-

e The focus theme of Europeans/gZda @t 9% fxa faw=r (i) [Option ID = 14697]

Topic:- 60Buddhist_A_New

D Identify the kingdom that lay outside the area visited by the Buddha
(1) Vamsa @) Kodala
(3) Avanti (4) Pancila

36 AT W TaiEaa FifA, 5 9 & & A 7 el ag 3w H -

() == 2 Fu=
(3) =@M 4) ==

[Question ID = 5746][Question Description = Q01_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22171]
2. 2 [Option ID = 22172]
3. 3 [Option ID = 22173]
4. 4 [Option ID = 22174]

Correct Answer :-
e 1 [Option ID = 22171]

2) The person called Bhovadi brahmin by the buddha in Dhammapada is
(1) A brahmin born from the womb of a brahmin mother and free from all moral defilements
(2) A brahmin born from the womb of a brahmin mother and not free from all moral defilements

(3) A brahmin born from the womb of a brahmin mother and not performing his rites and rituals

(4) A brahmin born from the womb of a brahmin mother and performing his rites and rituals

g H §g gl el Tl HiEE SEiE -

(1) T WAV = WAV A h TS H I B 3R g A Fe @ ge B

(2)  TF WA A WA A T F Io9 7N AR T 3w S 9 gae 94 2

(3) U WEAV H WEAW A % T F I 5an 3 o ffa frars # oo @ w2
(4) T FTEAV N WEAY AT % UE F 309 5 AR A7 et i s e w2

[Question ID = 5747][Question Description = Q02_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22175]
2. 2 [Option ID = 22176]
3. 3 [Option ID = 22177]
4. 4 [Option ID = 22178]

Correct Answer :-
e 1 [Option ID = 22175]

3) The Satvahana king Gautamiputra Yajna Satakarni built a monastery for Nagarjuna at Sriparvata, now known as
Nagarjuna-konda. The above account is available from the writings of

(1) Aryadeva (2) Hiuen Tsang
(3) I-Tsing  (4) Fa-Hisen

AR HHZ G T35 Al 4 ATad WO ATTEA F O 43 sEaE, W36 AR % A °
T T 2| A T w6 I R



(1) A (2) wET

(3 =-fem 4)  FEEE
[Question ID = 5748][Question Description = Q03_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22179]
2. 2 [Option ID = 22180]
3. 3 [Option ID = 22181]
4. 4[Option ID = 22182]
Correct Answer :-

e 1 [Option ID = 22179]

After getting direction from Atisha Dipamkar Srijfianain 1054 CE. Dom Ton Pa established
Re-Ting Monastery which paved way the establishment of

(D) Nying Ma (2) Kargyud
(3) Ka Dam (4) Sakya

1054 3. § zifaw SR HisE 4 Few fHed % 912 =W a9 O 4 -2 93 i s i e s w5
T T BT -

(1) g 2w
(3) A (4 =

[Question ID = 5749][Question Description = Q04_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22183]
2. 2 [Option ID = 22184]
3. 3 [Option ID = 22185]
4. 4 [Option ID = 22186]

Correct Answer :-
e 1 [Option ID = 22183]

5) Dhanyakataka is identified with
(1) Nagarjunakonda (2) Bhattiprolu

(3) Jaggayyapeta (4) Amaravati

GeE il UEAH F -

(1) T (2 wedng
(38) =z (4) TR

[Question ID = 5750][Question Description = Q05_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22187]
2. 2 [Option ID = 22188]
3. 3 [Option ID = 22189]
4. 4 [Option ID = 22190]

Correct Answer :-
e 1 [Option ID = 22187]

6) Identify the Bhikkhu who was born and attained parinirvana at Nalanda

(1) Ananda (2) Saviputta

(3) Moggalana (4) Mahakassapa

Tirg T et d 57 form sif =@ aftfator om e =i ve=m =

(1) == (2 =TS



g
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[Question ID = 5751][Question Description = Q06_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22191]
2. 2 [Option ID = 22192]
3. 3 [Option ID = 22193]
4. 4 [Option ID = 22194]

Correct Answer :-
e 1 [Option ID = 22191]

Identify the person who suggested the Buddha that men suffering from any disease were not
to be admitted into the samgha

(1) Bimbisara (2)  Anathapindaka
(3) Jivaka (4)  Visakha

30 =afad #1 fafea Fifs fsmm 9g =1 g=e = T w1 =afFa fd sfimd 9 7 2 o0 g9 9 o &6
T =m0 -

(1) TafeEw (2)  sFHsE
(3) E=w (4  fagmar

[Question ID = 5752][Question Description = Q07_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22195]
2. 2 [Option ID = 22196]
3. 3 [Option ID = 22197]
4. 4 [Option ID = 22198]

Correct Answer :-
e 1 [Option ID = 22195]

8) Like the Madhyamikas . which school also spoke of the non-selfness of individuals as well as
things
(1) Sarvastivada (2) Yogacara
(3) éﬁnyavﬁda (4) Sautrantika

et 1 W, FF H 9 NS (FFd) Sfaaal @R aEget f e # e w2 v
(1)  warfas 2 =mER
(38) FERE (4)  Hrenfaw

[Question ID = 5753][Question Description = Q08_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22199]
2. 2 [Option ID = 22200]
3. 3 [Option ID = 22201]
4. 4 [Option ID = 22202]

Correct Answer :-
e 1 [Option ID = 22199]

9)  The understanding ( Nana). knowledge (Vijja) or wisdom ((Panna) Liberates us from
(1) Cycle of Rebirth (2) Lack of knowledge (Avijja)
(3)  Nibbana (4)  Samadhi

fae (w), s (fassn) s1umn 9fg (vsen) =4 god #1d 3 -

(1) 9\ %=%d (2) IFE (sfasan) |
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[Question ID = 5754][Question Description = Q09_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22203]
2. 2 [Option ID = 22204]
3. 3 [Option ID = 22205]
4. 4 [Option ID = 22206]

Correct Answer :-
e 1 [Option ID = 22203]

10) Among the following, the person contributed to buddhist bio-ethics is

(1) Geshe wangyal (2) Khenpo Konchog Gyaltsen

(3) Jeffery Hopkins (4) Damien Keown

frtteaias 8 @ Sig SEAEE | TEE w0 G

(1) 7= gt (2) T FSE eE
(3)  HH EulEy (4 =hEa FaE

[Question ID = 5755][Question Description = Q10_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22207]
2. 2 [Option ID = 22208]
3. 3 [Option ID = 22209]
4. 4 [Option ID = 22210]

Correct Answer :-
e 1 [Option ID = 22207]

1) The Nidana associated with our former life is
(1) Jati (Birth) (2) Sadayatana (Six sense organs)
(3) Vedana (Feeling) (4) Vititiana (Consciousness)

TR e § 191 feE B

(1) = () (2)  wSEEA (TFHEAT)
(3) = (THA) @ T ()

[Question ID = 5756][Question Description = Q11_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22211]
2. 2 [Option ID = 22212]
3. 3 [Option ID = 22213]
4. 4 [Option ID = 22214]

Correct Answer :-
e 1 [Option ID = 22211]

12) Things are devoid of intrinsic nature because
(1) They do not exist in their causes and conditions and exist other than those
(2) Things are void because they are devoid of intrinsic nature

(3) Things do not exist in their causes and conditions or combination of the both, they exist other than these two

(4) Things exist and it is logically not possible to prove it
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[Question ID = 5757][Question Description = Q12_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22215]
2. 2 [Option ID = 22216]
3. 3 [Option ID = 22217]
4. 4 [Option ID = 22218]

Correct Answer :-
e 1 [Option ID = 22215]

13) Identify the deity worshiped in Jain tradition

(1) Kuguru (2) Kudeva

(3) Kusastra (4) Vitaragt
S e & R o A 2
1 FE @ FA
(3) TEm= (4 e

[Question ID = 5758][Question Description = Q13_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22219]
2. 2 [Option ID = 22220]
3. 3 [Option ID = 22221]
4. 4 [Option ID = 22222]

Correct Answer :-
e 1 [Option ID = 22219]

14)  According to Jain tradition Ayodhya is famous for
(1) Birthplace of Lord Rsabhadeva (2) Birthplace of Lord Neminatha
(3) Birthplace of Lord Parévanath (4 Birthplace of Lord Mahavira

S WO § ST S5 o ieg B -

(1) WEH ETHE P A (2) WA AES F A A
(3)  WEH WY T T (4) A TR H e e

[Question ID = 5759][Question Description = Q14_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22223]
2. 2 [Option ID = 22224]
3. 3 [Option ID = 22225]
4. 4 [Option ID = 22226]

Correct Answer :-

e 1 [Option ID = 22223]

15) According to Jain tradition Vaishali is famous for

(1) Birthplace of Lord Risabhadeva (2) Birthplace of Lord Ajitanatha

(3) Birthplace of Lord Neminatha (4) Birthplace of Lord Mahavira

S T § dee 9 fon wibg -
(1)  PEM FI953 F1 579 9H (2)  WHEE AT F O T
(3)  FTEM AfEY F FH T (4)  AEH TEER A

[Question ID = 5760][Question Description = Q15_Buddhist_SHAAN_NOV21]



1. 1 [Option ID = 22227]
2. 2 [Option ID = 22228]
3. 3 [Option ID = 22229]
4. 4 [Option ID = 22230]

Correct Answer :-
e 1 [Option ID = 22227]

16)  In Jain tradition. this one is compulsory for path of Salvation
(1) Samyak Darsan- Jnana — Caritra (2) Le&ya
(3) Gunuvrata (4) Sikshavrata

9 TR § HiEET % felw 98 A= E -

(1)  E=EsE-gE-=E (2) ©wm

(3) T (4)  ToEEE

[Question ID = 5761][Question Description = Q16_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22231]
2. 2 [Option ID = 22232]
3. 3 [Option ID = 22233]
4. 4 [Option ID = 22234]

Correct Answer :-
e 1 [Option ID = 22231]

17) ldentify the characteristic of the sect which follow ‘sky is the only attire’

(1) Sthanakavasi (2) Taranapanthi

(3) Digambara (4) Svetamdar

‘T B A 2 Aw T e 2 9w weEE -
(1)  TFamE (2)  amoTgd
(3) fom=m (4)  vEAER

[Question ID = 5762][Question Description = Q17_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22235]
2. 2 [Option ID = 22236]
3. 3 [Option ID = 22237]
4. 4 [Option ID = 22238]

Correct Answer :-
e 1 [Option ID = 22235]

18) This one is not included in cycle of time

(1) Sukhama - Sukhama (2) Adukhama - Asukhama

(3) Sukhama - Dukhama (4) Dukhama - Dukhama
FIEAT § T2 Tt 781 2 -

(1)  H@AT-gEa (2)  sAgEET - FgEE

(3  Faw - @ @ 3o - gE

[Question ID = 5763][Question Description = Q18_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22239]
2. 2 [Option ID = 22240]
3. 3 [Option ID = 22241]
4. 4 [Option ID = 22242]



Correct Answer :-
e 1 [Option ID = 22239]

19) The characteristic of ‘Asrava’ element in Jainism consist of

(1) Destruction of Karmas (2) Continued existence of Karmas

(3) Advent of Karmas (4) To stop the advent of Karmas

A g g amea’ a5 TR | g E -

(1) <A1 =1 &9 T (2) =41 = HETH A
(3)  FH F AFEA BT (4)  HHI & ATTHA T TEHAT

[Question ID = 5764][Question Description = Q19_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22243]
2. 2 [Option ID = 22244]
3. 3 [Option ID = 22245]
4. 4 [Option ID = 22246]

Correct Answer :-
e 1 [Option ID = 22243]

20) In the Jaina theory of Karma, the word ‘‘Ghati’’ refers to

(1) Nama Karma (2) Vedaniya Karma

(3) Gotra Karma (4) Antaraya Karma

7 FAfaga 9 ‘o’ wme = giad e -

(1) ===+ (2) dedm=wd
(3) TEEA (4) T

[Question ID = 5765][Question Description = Q20_Buddhist_SHAAN_NOV21]
1.1

[Option ID = 22247]
2.2

[Option ID = 22248]
3.3

[Option ID = 22249]
4. 4

[Option ID = 22250]

Correct Answer :-
o 1

[Option ID = 22247]
21) The Drstivada Siitra is preserved in this tradition

(1) Vedic  (2) Swetambara

(3) Buddhist (4) Digambara

afteare ga 58 W § H@iaE 2
(1) dfe=® (2) vEGER
@ g @ e

[Question ID = 5766][Question Description = Q21_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22251]
2. 2 [Option ID = 22252]
3. 3 [Option ID = 22253]



4. 4[Option ID = 22254]

Correct Answer :-
e 1 [Option ID = 22251]

22) The name of Saptabhangi principle of Jainism is included in
(1) Niksepa (2) Syadvada

(3) Anekantavada (4) Pramanavada

S A Cgwadt’ fagea # 9w 3o affed 2 o-

(1) fem 2 e
(3)  IHwI=AETE (4)  wHwETR

[Question ID = 5767][Question Description = Q22_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22255]
2. 2 [Option ID = 22256]
3. 3 [Option ID = 22257]
4. 4 [Option ID = 22258]

Correct Answer :-
e 1 [Option ID = 22255]

23) In Jainism, the characteristic of ‘Akasa’ substance is constituent of
(1) To give space to all substances of the world

(2) The right path for salvation

(3) To give multi-dimensional view point related to substance

(4) To stop incoming Karmas

U 0 R god 3 fauieer ¥ g9 -

(1)  Tava & aoft g==f =1 o= =)
(2)  TE-wiE #7195 3|
(3) 7= F Ty § A - ST g

(4) 21 Fm A R AT

[Question ID = 5768][Question Description = Q23_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22259]
2. 2 [Option ID = 22260]
3. 3 [Option ID = 22261]
4. 4 [Option ID = 22262]

Correct Answer :-
e 1 [Option ID = 22259]

24) The sixth Bhanga of Saptabhanga is

1) Syad-Asti-Avaktavyam (2) Syad-Nasti-Avaktavyam
3) Syad-Asti-Nasti-Avaktavyam (4) Syad-Avaktavyam
T TS W E -
(1) TE-AfE - sTaFd=ayq (2) TRE-TE - EEE
(3) TMmE-AAfEm-T - sETT (4 T - FEFE

[Question ID = 5769][Question Description = Q24_Buddhist_SHAAN_NOV21]
1.1

[Option ID = 22263]
2.2



[Option ID = 22264]
3.3

[Option ID = 22265]
4. 4

[Option ID = 22266]

Correct Answer :-
e 1

[Option ID = 22263]

25) In Porbandar, during Gandhi’s elementary schooling, boys would learn in their school, the alphabets by drawing letters
on 9 wooden board on which fine dust was strewn, known as

(1) Dhoolishala (2) Shikshala

(3) Pathshala (4) Madhushala

TREET § i F e e % IR FwE F Uk ae 99 W gEhge w0 e B 9 39 W e A
ATFA S A= A9 Thel § AT Hrad o, e am w s g -

(1) i (2) T

(3)  wrEmen (4) AL

e

[Question ID = 5770][Question Description = Q25_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22267]
2. 2 [Option ID = 22268]
3. 3 [Option ID = 22269]
4. 4 [Option ID = 22270]

Correct Answer :-
e 1 [Option ID = 22267]

26) The book on Vegetarianism by Anna Kingsford roused in Gandhiji interest in the philosophy of vegetarianism was
(1) A plea for Vegetarianism (2) The Perfect way in Diet

(3) The Ethics of Diet (4) The Epic fast

VS

FAT TEEE Fi dfAiEEen (TwEaE) W A e g J e § s & Ege 8 s

ST

(1) T Al F AT (2) & WHEEE T IR
(3) 7 sfuem a1 siEe (4) 7 =uw w

[Question ID = 5771][Question Description = Q26_Buddhist_ SHAAN_NOV21]
1. 1 [Option ID = 22271]
2. 2 [Option ID = 22272]
3. 3 [Option ID = 22273]
4. 4 [Option ID = 22274]

Correct Answer :-
e 1 [Option ID = 22271]

27) In Hindu Dharma and Buddhism that Ahimsa Parmodharmabh is
(1) The Ultimate Rule (2) The Relative Rule

(3) The Mixed Rule (4) The Absolute Rule
fag o =i =ifg o 9 rfemn woen: 2 -
(1)  =mv=a e (2) =M

(38) fufta Fam (4)  frue FEm



[Question ID = 5772][Question Description = Q27_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22275]
2. 2 [Option ID = 22276]
3. 3 [Option ID = 22277]
4. 4 [Option ID = 22278]

Correct Answer :-
e 1 [Option ID = 22275]

28) Maganlal Gandhi suggested the word ‘Sadagraha’ which was changed later by Gandhiji to ‘Satyagraha’, meaning
(1) firmness to truth (2) firmness in a good cause

(3) wedded to truth  (4) constant - absolute loyalty to truth

ST T gR1 WAl We2 HEWE (AU |12 § NHiS] g Heaws H qiREtad e mmn, w oA 2 -

(1) =3 % fow sms (2) HEEEE =g A

(3)  weEl=T (4)  =EA - TP T

[Question ID = 5773][Question Description = Q28_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22279]
2. 2 [Option ID = 22280]
3. 3 [Option ID = 22281]
4. 4 [Option ID = 22282]

Correct Answer :-
e 1 [Option ID = 22279]

29) Khadi gets pride of place in the plan for

(1) Village Resurgence (2) Urban Resurgence

(3) For both Rural and Urban (4) None of the above
wrEl = 8 T | FUEE T T w7 A -

(1) = FeuH (2) wIEl S

(3) o T Wl 2 (4) == gEeE e

[Question ID = 5774][Question Description = Q29_Buddhist_SHAAN_NOV21]
1 [Option ID = 22283]
2 [Option ID = 22284]
3 [Option ID = 22285]
4 [Option ID = 22286]

A w N =

Correct Answer :-
e 1 [Option ID = 22283]

30) According to Gandhi the main reason for the Labour-Capital trouble is;
(1) the desire to accumulate wealth on the part of employers
(2) the desire to accumulate wealth on the part of labourers

(3) the desire to accumulate wealth both on the part of employers and labourers

(4) the desire to accumulate wealth both on the part of employers and labourers for specific time only

el = ATEN JH- T Y A
(1) gl 1 99 9ug 41 =i 3=a1
(2) w99 TUE F4 $i g=u0

(8) Tl A ATHF 2E1 g9 TUE #A Hi =0
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[Question ID = 5775][Question Description = Q30_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22287]
2. 2 [Option ID = 22288]
3. 3 [Option ID = 22289]
4. 4 [Option ID = 22290]

Correct Answer :-

e 1 [Option ID = 22287]

31) Gandhi was a bitter critic of Casteism while he stood for the Varna Vyavastha because it is based on traditional pattern
of vocations :

(1) to educate society ; to protect weak ; to produce from land and business ; and to serve through physical labour and skills
(2) justice ; equality ; truth ; and Physical labour
(3) to educate society ; to speak truth ; to accumulate wealth ; and to focus on ends and means

(4) physical labour and skills ; to serve poor ; to educate society ; and to love others

T SfaaTE % Ta AeaE o FE 9 99 9w F 6y @3 5y ¥ H@iih 98 TRl =aud ugha W

w14 iiﬁ% =

(1) =ars =1 forfem o ; Faer Ft @0 w60 g 99 = ¥ I w5, HWE AR 99 qu
FI9 o HIEAH F HAT HAT

(2) —=; AW @09 ; T SRR AE

(3) =TS i {9 AT, e S ; UH WUE T AR HIGA a9l 3699 W Higd T
(4)  TTEE g 3R Fw; T T EHE A g9 s #E S § o

[Question ID = 5776][Question Description = Q31_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22291]
2. 2 [Option ID = 22292]
3. 3 [Option ID = 22293]
4. 4[Option ID = 22294]

Correct Answer :-
e 1 [Option ID = 22291]

32) Gandhiji regarded constructive programme as the truthful and non-violent way of winning complete independence
(Poorna Swaraj) was woven around the concept of

(1) Gram Swaraj (2) Panchayat Samiti

(3) Zila Parishad (4) Hind Swaraj

o g 91 -

(1) o™ == (@)  vEmEA A
(8)  Tem witwg @ -

[Question ID = 5777][Question Description = Q32_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22295]
2. 2 [Option ID = 22296]
3. 3 [Option ID = 22297]
4. 4 [Option ID = 22298]

Correct Answer :-
e 1 [Option ID = 22295]

33) The Nagorno-Karabakh conflict is an ethnic and territorial conflict between



(1) Armenia and Georgia (2) Armenia and Azerbaijan

(3) Azerbaijan and Turkey (4) Georgia and Turkey

AT —FramE e v e o i R e A R

(1) == i it (2)  STEFE R AEEEE
(3)  ITeEwE 3N A (4) it 3T g

[Question ID = 5778][Question Description = Q33_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22299]
2. 2 [Option ID = 22300]
3. 3 [Option ID = 22301]
4. 4 [Option ID = 22302]

Correct Answer :-
e 1 [Option ID = 22299]

34) The Karachi session of the Indian National Congress was presided over by
(1) Gopal Krishna Gokhale (2) Sardar Vallabhai Patel
3) Motilal Nehru (4) Bal Gangadhar Tilak

T T FUE F ] AT i sEear i i

(1) =Tt Fo TEe (2)  HEN TeEEE w2
(3) A= A== (4) ST fae

[Question ID = 5779][Question Description = Q34_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22303]
2. 2 [Option ID = 22304]
3. 3 [Option ID = 22305]
4. 4 [Option ID = 22306]

Correct Answer :-
e 1 [Option ID = 22303]

35) The Just War theory, does not deal with the
(1) Justification of how and why wars are fought
(2) The Justification can be either theoretical or historical

(3) The theoretical aspect is concerned with ethically justifying war and warfare

(4) Economic rationalism

T AR S F SAad 981 B -

(1)  Ig 0 3 F5 &3 Fd 7, H Altaey

(2)  =EOTEdl @ 91 UaEihE 2 gl 2 91 darias|
(3)  Hgifo® ua #1 Teu Afaw =0 ¥ 4z i gud = =T 38 2

(4)  nfds TezanE

[Question ID = 5780][Question Description = Q35_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22307]
2. 2 [Option ID = 22308]
3. 3 [Option ID = 22309]
4. 4 [Option ID = 22310]

Correct Answer :-
e 1 [Option ID = 22307]

36) The peasants of the Champaran district of North Bihar protested against the



(1) Queen of England (2) Zamindars
3) Colonial rulers (4) British Army

I T9r & =ewe Tt & a3 o5 faeg Ao e ar -

(1)  Seis =i AHEEI (2) R
(3) A=t wEE 4y  fatze s

[Question ID = 5781][Question Description = Q36_Buddhist_SHAAN_NOV21]
1 [Option ID = 22311]
2 [Option ID = 22312]
3 [Option ID = 22313]
4 [Option ID = 22314]

AN wN -

Correct Answer :-
e 1 [Option ID = 22311]

37) The Indian National movement was fully committed to a policy based on

(1) Representative democracy (2) Foreign policy goals

(3) Economic revivalism (4) Electoral gains

A T A Tl SR 9 A= & 9 g iaeg 91 -

(1)  fatremens = (2)  femm e = =em
(3) YT T (4  TrarEa wad =

[Question ID = 5782][Question Description = Q37_Buddhist_SHAAN_NOV21]
1 [Option ID = 22315]
2 [Option ID = 22316]
3 [Option ID = 22317]
4 [Option ID = 22318]

A WN -

Correct Answer :-
e 1 [Option ID = 22315]

38) The Westphalian concept of nation state is NOT based on the fundamental assumption(s) of
(1) Global order is anarchical in nature
(2) States are always engaged in the struggle for power

(3) National interest of the States is always pursued in terms of acquisition of power

(4) Human security is an important component

T2 =i A ATTAIN SR HifeTsh FAATAT 9T ATHIE AR B 7

et

(1)  3fvas == 1 9 w2
(2) =9 Hea wA-EY A A =

(3) T F U 2 waa B % ATmET F w9 H 35 T A

(4)  TFT G U SEE 92 A

[Question ID = 5783][Question Description = Q38_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22319]
2. 2 [Option ID = 22320]
3. 3 [Option ID = 22321]
4. 4 [Option ID = 22322]

Correct Answer :-
e 1 [Option ID = 22319]

39) The author of ‘On War and Justice’ is



(1) Hugo Grotius (2) Michael Walzer

(3) Paul Ramsey (4) Thomas Acquinas

‘7 9N Uz A W -

(1) =i e (2)  wTEhe T
(3) e THA @) o ufEE

[Question ID = 5784][Question Description = Q39_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22323]
2. 2 [Option ID = 22324]
3. 3 [Option ID = 22325]
4. 4 [Option ID = 22326]

Correct Answer :-
e 1 [Option ID = 22323]

40) Gandhiji was persuaded to go to Champaran to look unto the appalling conditions of the farmers by

(1) Vallabhbhai Patel (2) Rajkumar Shukla

(3) K. Kelappan (4) Periyar E.V. Ramaswamy

(1) FoawE 2= (2)  TEEEN v
(3) . T (4)  uieEw 2= e

[Question ID = 5785][Question Description = Q40_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22327]
2. 2 [Option ID = 22328]
3. 3 [Option ID = 22329]
4. 4 [Option ID = 22330]

Correct Answer :-
e 1 [Option ID = 22327]

41) The tathata philosophy of Ashvaghosa held that in the soul two aspects may be
distinguished. They are

(A) The aspect as suchness (Bhavisyatathatd) and the aspect as the cycle of birth and

dealth (za m sara

(B) The aspect as oneness of the totality of all things (dharmadhatu) and the aspect as
cyele of birth and dealth (sa m sara)

(C) The aspect as thatness (bhiitatathat3d) and the aspect as the cyvele of birth and death

{sa m zara)

(D) The aspect as rememberance (smrititathatad) and the aspect as the cycle of birth and
death (sa m sara)

(E) The aspect as sameness (samati) and the aspect as rebirth (punarbhava)

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
{4) (D) and (E) only

STTAET * AuA § "= O B oTem 5 21 usl F uieiad S 9 v 2, 3 0 E o

(A) I (AETEAYaT) 9SSR S 6T g0 9% w1 9E (FER)

B) =i S i T F Uhe (999 1 9E $R S R §o 9% (FER) # ua



(C) =91 (qadgar) F1 94 3 59 37 O 9% (T9W) =1 74
(D) T (Faga) =1 78 3 79 A7 g 7F (F9R) F
(E) a1 =1 9 377 [0 F UE (7949)

Fr= fzu o fashedi § @ 7F TR g0

(1)  F& (A) = (B)
(2) = (B) 0 (C)
(3)  F= (O) i (D)
(4)  Fa= (D) 3 (E)

[Question ID = 5786][Question Description = Q41_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22331]
2. 2 [Option ID = 22332]
3. 3 [Option ID = 22333]
4. 4 [Option ID = 22334]

Correct Answer :-
e 1 [Option ID = 22331]

42) As described in Samafnfaphala sutta, the common rules between Acelakas and Niganthanatputta are
(A) Not to kill

(B) To Have white cloths

(C) Not to tell lie

(D) Not to take whatever is not given

(E) Not to wear cloths

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A), (B) and (E) only

(4) (A), (C) and (D) only

T==IFEE | 0 70 99 % AR s=eF 3R Frisaar F e ot
(&) = Fem gl

(B)  vad TRYH GO FAT

(C) oz a== wfay

(D) T

(E) o5 900 T8 B0

= fEu o fashedt | 9 @d 3 g
(1) 3= (A), (B) R (O)
(2)  Fa (A), (B) 3 (D)
(3) AT (A). (B) 31 (E)

4)  F== (A), (C) #1 (D)



[Question ID = 5787][Question Description = Q42_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22335]
2. 2 [Option ID = 22336]
3. 3 [Option ID = 22337]
4. 4 [Option ID = 22338]

Correct Answer :-
e 1 [Option ID = 22335]

43) Read the following carefully:
(A) The oldest stupa in brick is the ramnant at piprahwa
(B) The earliest stipas show a rectangular base
(C) Dagoba is only the area where the relic is deposted
(D) The stipa itself represents Mount Meru
Choose the most appropriate answer from the options given below:
(1) (A), (B), (C) only
(2) (B), (C), (D) only
(3) (A), (C), (D) only
(4) (A), (B), (D) only
(A) 2z TAfda urian w9 =1 sEey TwEe § )|
(B) WA FEI | AqHAR Aa geE = A
(C) =i u=h W & 3 WAl =i o gy 2

(D) 9 T 5% TGd F HEG B

Hr= fau o foepet § @ weE IUgEd SR =9 Hiew

(1)  F=4 (A). (B) # (C)
(2 F= B), (C) 3t (D)
(3) A (A). (C) 31 (D)
(4 F99 (A). (B) 3R (D)

[Question ID = 5788][Question Description = Q43_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22339]
2. 2 [Option ID = 22340]
3. 3 [Option ID = 22341]
4. 4 [Option ID = 22342]

Correct Answer :-
e 1 [Option ID = 22339]

44) According to the Mahavagga, the noble truths of suffering are
(A) Birth, Old Age, Disease and despair
(B) Sorrow, lamentation, Pain, deject and despair

(C) Not getting what is wanted and getting what is unwanted

(D) Not getting what one wants grouping



(E) In short, the five groups of grasping
Choose the correct answer from the options given below:
(1) (A), (B), (C), (D) only
(2) (B), (C), (D), (E) only
(3) (A), (B), (D), (E) only
(4) (A), (C), (D), (E) only
TR F AR 3 T B 7
(A) T, SgEEAT, T AR
B) ™, AF, T, Fwd A G
(C)  =foma =i srifea wi saffesa =1 Wit =
(D) AT T=I F FEN = A W B

(E) ®&T A, 9059 % 94 9

4 2w T el § | w3 = A

(1)  #= (A), (B), (O). (D)
(2) A4 B). (C). (D). (B)
(3)  FAA (A). (B). (D). (B)
(4 F= (A, (©), (D), (B)

[Question ID = 5789][Question Description = Q44_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22343]
2. 2 [Option ID = 22344]
3. 3 [Option ID = 22345]
4. 4 [Option ID = 22346]

Correct Answer :-
e 1 [Option ID = 22343]

45) Read the following carefully:-

(A) Kosala was one of the powerful kingdom during the Buddha’s time

(B) Kosala was rated to successively by Mahakosala, Pasenadi and Vidudabha
(C) King of Kosala was lord over the two republics and three tribal areas

(D) South - West of Kosala was kingdom of Avanti

(E) Ajatasattu was married to a sister of king Pasenadi of Kosala

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

(2) (C), (D) and (E) only

(3) (B), (C) and (E) only

(4) (A), (B) and (C) only
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[Question ID = 5790][Question Description = Q45_Buddhist_SHAAN_NOV21]

1.1

[Option ID = 22347]
2.2

[Option ID = 22348]
3.3

[Option ID = 22349]
4. 4

[Option ID = 22350]

Correct Answer :-
e 1

[Option ID = 22347]
46) ldentify the three characteristics (trilakhanas) of the Dhamma as per Dhammapada
(A) Imper Mamonce (Anitya)
(B) Suffering (Dukkha)
(C) Enlightenment (Nirvava)

(D) Non-substance (Anatta)

Choose the correct answer from the options given below:

(1) (A), (B) and (D) only
(2) (A, (B) and (C) only
(3) (B), (C) and (D) only
(4) (A), (C) and (D) only
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(2)  Fad (A). (B) 31 (O)
(3)  F== (B). (C) 3% (D)
4)  FAF (A). (C) 3% (D)

[Question ID = 5791][Question Description = Q46_Buddhist_ SHAAN_NOV21]
1. 1 [Option ID = 22351]
2. 2 [Option ID = 22352]
3. 3 [Option ID = 22353]
4. 4 [Option ID = 22354]

Correct Answer :-
e 1 [Option ID = 22351]

47) The law of Buddha, as per Dhammapada include:

(A) Abstinence from all Evil

(B) Leaving the household

(C) Fulfilment of all good

(D) Purification of mind

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A), (C) and (D) only

(4) (B), (C) and (D) only
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(1)  F&= (), (B) 3 (C)
(2 F& (A), (B) #i (D)
(3)  Fa (A), (C) ¥ (D)
(4  #= (B). (C) ¥ (D)

[Question ID = 5792][Question Description = Q47_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22355]
2. 2 [Option ID = 22356]
3. 3 [Option ID = 22357]
4. 4 [Option ID = 22358]

Correct Answer :-
e 1 [Option ID = 22355]



(L) DAaririka
(B) Uddesika
(C) Paribhogika
(D)  Triratna

Choose the most appropriate answer from the options given below:

1 (A), (B), D) only
@  (B),(C), D) only
@) @), (C), (D) only
@) @A), ®B), (C) only
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(1) A (A). (B) 3 (D)
(2) == (B). (C) w1 (D)
(3) A= (A). (C) 311 (D)

(4)  F=a (A). (B) 1 (C)

[Question ID = 5793][Question Description = Q48_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22359]
2. 2 [Option ID = 22360]
3. 3 [Option ID = 22361]
4. 4 [Option ID = 22362]

Correct Answer :-
e 1 [Option ID = 22359]

Identify the texts which were written by Ac@rya Virsen Swami

(A)  Samaya Jara

(B) Dhavata Tika
(C)  JaiDhavala Tika
() Tatvartha Sdtra

(E)  Abtamimansa

Choose the correct answer from the options given helow:
(1)  (A) and (B) only
(2) (A) and (E) only
(3  (B)and (C) only
4  (C)and (D) only
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[Question ID = 5794][Question Description = Q49_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22363]
2. 2 [Option ID = 22364]
3. 3 [Option ID = 22365]
4. 4 [Option ID = 22366]

Correct Answer :-
e 1 [Option ID = 22363]

50) These are the teachings of Jainism
(A) Ahinsa
(B) Isvaravada
(C) Anckantavada
(D) Anatmavada
Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (A) and (C) only
(3) (A) and (D) only
(4) (B) and (C) only
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(A)  #AEE
(B) IR
(C)  FFFmaEe
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(3) A (A) ¥ (D)
(4)  Fa= (B) #E (O)

[Question ID = 5795][Question Description = Q50_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22367]
2. 2 [Option ID = 22368]
3. 3 [Option ID = 22369]
4. 4 [Option ID = 22370]

Correct Answer :-
e 1 [Option ID = 22367]

51) Mohaniya Karma is divided into these parts:-

(A) 2

(B) 8

(C) 15

(D) 28

(E) 30

Choose the correct answer from the options given below:
(1) (A) and (D) only

(2) (C) and (D) only

(3) (A), (B) and (C) only

(4) (B), (C) and (D) only

HiEAT #H gad 9P A e B oo

@A 2
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Fr= fou o fasheqt § @ wE TR T

(1) = (A) 37 (D)
(2) %3 (C) 3t (D)
(3)  F= (A). (B) # (C)
(4  F= (B). (C) #r (D)

[Question ID = 5796][Question Description = Q51_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22371]
2. 2 [Option ID = 22372]
3. 3 [Option ID = 22373]
4. 4 [Option ID = 22374]

Correct Answer :-
e 1 [Option ID = 22371]



52) These texts are included in Anga Agama

(A)  Acarane Sutra

(B) Uttaradhvayvana Statra
(C) Jnatadharma Katha
(D) Jivajivadhigama Satra

(E) Vipaka Satra

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only

[}

(2) (A). (C) and (D) only

(3) (A). (C) and (E) only
(4) (A). (D) and (E) only
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(1)  F= A), (B) 3 (O)
(2 F= A), (C) 3 (D)
(3)  FF (A). (C) 31 (B)
4  F= Q). D) FR (E)

[Question ID = 5797][Question Description = Q52_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22375]
2. 2 [Option ID = 22376]
3. 3 [Option ID = 22377]
4. 4 [Option ID = 22378]

Correct Answer :-
e 1 [Option ID = 22375]

Following Jain Research Journals are published from Rajasthan
(A) Prakrta Vidya

B) Anekanta

(C)  Jinavam

(D)  Tulsi Prajiia
(E)  Arhat — Vacana

Choose the correct answer from the options given below:

(1) (A and (B) only
(2)  (B)and (C) only
(8)  (C)and (D) only
(4) (D) and (E) only
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(1) =3 (A) ¥ (B)
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[Question ID = 5798][Question Description = Q53_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22379]
2. 2 [Option ID = 22380]
3. 3 [Option ID = 22381]
4. 4 [Option ID = 22382]

Correct Answer :-
e 1 [Option ID = 22379]

54) According to Jain History, which of the following are true?

(A) Kankalt tila was found in Mathura

(B) Delvada temple is Situated at Mathura

(C) L.D. Institute of Indology is located in the city of Ahmedabad
(D) Sramanvelgola is Situated at U.P.

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A) and (C) only

(4) (C) and (D) only
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(2)  Faa (B) #7 (C)
(3) = (A) #R (C)
(4)  F4 (C) #7 (D)

[Question ID = 5799][Question Description = Q54_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22383]
2. 2 [Option ID = 22384]
3. 3 [Option ID = 22385]
4. 4 [Option ID = 22386]

Correct Answer :-
e 1 [Option ID = 22383]

55) The famous Prakrit Research institute are Situated at
(A) Vaishali

(B) Shravanabelagola

(C) Nalanda

(D) Mumbai

(E) Delhi

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only

(2) (A) and (C) only

(3) (B) and (C) only

(4) (D) and (E) only
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(2)  FFF (A) 37 (C)
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[Question ID = 5800][Question Description = Q55_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22387]
2. 2 [Option ID = 22388]

3. 3 [Option ID = 22389]
4. 4 [Option ID = 22390]

Correct Answer :-



e 1 [Option ID = 22387]

56) In the High School, Headmaster Dorabji Edulji Gimi had made gymnastics and cricket compulsory for boys of the upper
standards Gandhi disliked both because

(A) Shyness was one of the reasons for his aloofness
(B) Keen desire to serve as a nurse to his father
(C) He had a false notion that gymnastics had nothing to do with education
(D) Carelessness was one of the reasons for dislikeness
Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(4) (B) and (D) only
w=a faoem 1 Zeare gEms vgerst e == 9 & we F oo e an e = atee =
femm o) M 2w A9Ee w9, F=ie
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Hi= fu o fameai 9 © wE 39 == i

(1) == (A) ¥ (B)
(2) A (A). (B) 311 (C)
(3) @A (B). (C) 311 (D)

(4) Fa= (B) ¥ (D)

[Question ID = 5801][Question Description = Q56_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22391]
2. 2 [Option ID = 22392]
3. 3 [Option ID = 22393]
4. 4 [Option ID = 22394]

Correct Answer :-
e 1 [Option ID = 22391]

57) Gandhi was convinced that permanent good can never be the outcome of

(A) Untruth

(B) Non-violence
(C) Truth

(D)  Violence

Choose the correct answer from the options given below:
1) (A) and (B) only
(2) (B) and (C) only
3) (A) and (D) only
(4) (C) and (D) only
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[Question ID = 5802][Question Description = Q57_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22395]
2. 2 [Option ID = 22396]
3. 3 [Option ID = 22397]
4. 4 [Option ID = 22398]

Correct Answer :-
e 1 [Option ID = 22395]

58) End and means synthesis according to Gandhi is
(A) End justifies means
(B) Ends and means are inseperable
(C) Means justifies End
(D) Ends and means are two separate things
Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (A) and (D) only
(3) (B) and (C) only
(4) (C) and (D) only
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(3) Faw (B) #W (C)

(4)  FF (C) 3 (D)

[Question ID = 5803][Question Description = Q58_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22399]
2. 2 [Option ID = 22400]
3. 3 [Option ID = 22401]
4. 4 [Option ID = 22402]

Correct Answer :-
e 1 [Option ID = 22399]

59) Gandhi gave us an unfailing ‘Talisman’ for right action whenever you are in doubt or when the self becomes too much
with you apply the following test

(A) Recall the face of the poorest and the weakest man whom you may have seen
(B) Ask yourself if the step you contemplate is going to be of any use to him

(C) Recall the face of rich and brave man whom you may have seen

(D) Ask yourself if the step you contemplate is going to be of any use to yourself
Choose the correct answer from the options given below:

(1) (A) and (D) only

(2) (A) and (B) only

(3) (C) and (D) only

(4) (C) and (B) only
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(1)  F=9 (A) 31 (D)
(2)  FF (A) 3 (B)
(3)  Fa= (C) 5T (D)
(4)  Fa (C) 3 (B)

[Question ID = 5804][Question Description = Q59_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22403]
2. 2 [Option ID = 22404]
3. 3 [Option ID = 22405]
4. 4 [Option ID = 22406]

Correct Answer :-
e 1 [Option ID = 22403]

60) Article 29 of the Universal Declaration of Human Rights acknowledges that the individual owes certain duties to the
community through

which alone the free and full development of his personality is possible. The units imposed by these duties



(A) Must be determined by law

(B) Can only be for the purposes of securing due recognition

(C) Respect for the Rights of others

(D) Respect for their own Rights

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (D) only

(2) (A), (B) and (C) only

(3) (A) and (C) only

(4) (B) and (D) only
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(1) === (A). (B) @1 (D)
(2)  Fa (A). (B) ¥ (C)
(3)  Had (A) #Hi (C)

(4) ¥a= (B) F (D)

[Question ID = 5805][Question Description = Q60_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22407]
2. 2 [Option ID = 22408]
3. 3 [Option ID = 22409]
4. 4 [Option ID = 22410]

Correct Answer :-
e 1 [Option ID = 22407]

61) The dimensions of human security are
(A) Personal and physical security

(B) Nuclear security

(C) Military security

(D) Ethnic and cultural security

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only
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(1) = (A) =i (B)
(2) = (B) # (C)
(3)  Fa= (O) 3t (D)
(4 F= (A) # (D)

[Question ID = 5806][Question Description = Q61_Buddhist_ SHAAN_NOV21]
1. 1 [Option ID = 22411]
2. 2 [Option ID = 22412]
3. 3 [Option ID = 22413]
4. 4 [Option ID = 22414]

Correct Answer :-
e 1 [Option ID = 22411]

62) Peace keeping provides

(A) Security

(B) Political and peace-building support

(C) Agricultural guidance on irrigation

(D) Economic development

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (C) and (D) only

(3) (B) and (D) only

(4) (A) and (C) only
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(2) a7 (C) @ (D)
(3) Fa= (B) 3t (D)
(4) T (A) I (C)

[Question ID = 5807][Question Description = Q62_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22415]
2. 2 [Option ID = 22416]
3. 3 [Option ID = 22417]
4. 4 [Option ID = 22418]

Correct Answer :-
e 1 [Option ID = 22415]

63) Human security visualizes a new global order

(A) Founded on values and norms intended to develop global humanism

(B) It aims to solve the population’s basic needs within the framework of globalization and interdependence
(C) Territorial sovereignity is an important component of human security

(D) Ethnicity, religion, governance issues can be dealt with military capacity

Choose the correct answer from the options given below:

(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only
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(B)  HT TET VAT SN SN % S F Wi ST o Hega SAvawatst F [ = 7
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(D)  FodrEar, o6 wrEe g e & e 3 Ewar | S A 2

= fau o faseal | O O 3 0 99 i
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(2)  Fad (B) 4 (C)
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(4)  =FaEe (A) # (D)

[Question ID = 5808][Question Description = Q63_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22419]
2. 2 [Option ID = 22420]
3. 3 [Option ID = 22421]
4. 4 [Option ID = 22422]

Correct Answer :-
e 1 [Option ID = 22419]

64) ldentify the correct statements in the khilafat movement,

(A) Gandhi saw a splendid opportunity to unite the Hindus and the Muslims in a common struggle against the British.



(B) Gandhi took up the Khiafat cause and initially played a mediating role between the Indian moderates and colonial rulers.

(C) For the younger generations of the Hindus and Muslims there was no basic contradiction between Muslim identity and
Indian nationalism.

(D) The Khilafat movement primarily consisted of elite class.
Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B) nad (C) only

(3) (C) and (D) only

(4) (A) and (C) only
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(1) & (A) 3 (B)
2  Fa (B) 3 (C)
(3)  @aw (C) 3t (D)
(4) A= (A) i (C)

[Question ID = 5809][Question Description = Q64_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22423]
2. 2 [Option ID = 22424]
3. 3 [Option ID = 22425]
4. 4 [Option ID = 22426]

Correct Answer :-
e 1 [Option ID = 22423]

65) ldentify the correct statements

(A) The Champaran Satyagraha was marked by sporadic violence, looting and arson.

(B) Gandhi’s relationship with champaran peasants was strong.

(C) The Karadhi session of the congress favoured development of large scale industry under state ownership.
(D) Gandhi had proclaimed to smash all planters.

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only

(2) (B) and (D) only

(3) (A) and (C) only

(4) (B) and (C) only
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(49 A= (B) #iF (O)

[Question ID = 5810][Question Description = Q65_Buddhist_SHAAN_NOV21]
1 [Option ID = 22427]
2 [Option ID = 22428]
3 [Option ID = 22429]
4 [Option ID = 22430]

A W N -

Correct Answer :-
e 1 [Option ID = 22427]

66) Match List | with List Il :

List | List Il
(A) Ajivaka 0] Pdrana Kassapa
(B) Akriyavada ()  Makkhali Gosala
(C) Kayavada (i) Pakudha Katyayana
(D) Lokayata (IV) Ajita Kesakambalt

Choose the correct answer from the options given below:
(1) @A)-an, (@B) - A, (€) - @v), d) - 1)
(A) - (D, (B) - (In, (€) - (v), (D) -

@y
3) :f\«/))- ), (B) - Iy, (€) - (m, (D) -
(4) :;’\«/))- an, () - ), (€) - (), (D) -
=t 1% =y gt 11 =1 e =fifsm
oI il
(A) FiES (I T FE
(B) =fFTERE (II) HFE= T
(C) =FrIEms (IIT) TFT FTA=A
(D) =FEE (IV) AT e

Fr= fam o faserent @ wE S 9=a Fifaw

1 @-dm. @ - (C)-av. D - @D
2 @W-o ® -d. © - av. (@ - dm



3 @W-O ®-dd. (© - dn @O - av
@ @w-am ®-0O. (© -dn O -av

[Question ID = 5811][Question Description = Q66_Buddhist_SHAAN_NOV21]
1. 1

[Option ID = 22431]
2.2

[Option ID = 22432]
3.3

[Option ID = 22433]
4. 4

[Option ID = 22434]
Correct Answer :-
e 1

[Option ID = 22431]

67) Match List I with List IT :

ListI List IT
(A) Vedana () Mental reactions
(B) Sanfia (I) Consclousness
(C) BSankhara (III) Perception
(D) Vififiana (IV) Feeling

Choose the correct answer from the options given below:

1 @-av. @ - dn. © - @O. (@D - dp
2 @W-O @® -dn (€ -an, @O - av)
@ @-@O @B -av. © - d. @O - dIIm
@ @-av ®-dn © -anp @O - @

H=ft 1% Jn w11 1 e i,
T 1 o= 1T
(A)  =EW (D) =S A
(B) T== D) =@
(C) d@Em (IID) F==Y
(D) T (IV) 4
= f2u v fameredi | @71 ST 1 =994 Fifae

(1) (&) —-av). (B — dn, (© - @O. @O — 1D
(2) Q-OM ®B-On © -ddm O -1V
(3) Q-@O ® - adv), (© - an, (D) — dIm
(4) A@-aw), & -3 ©-3d, O-0
[Question ID = 5812][Question Description = Q67_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22435]
2. 2 [Option ID = 22436]
3. 3 [Option ID = 22437]
4. 4[Option ID = 22438]

Correct Answer :-



e 1 [Option ID = 22435]

68) Match List | with List Il :

List | List Il
(A) Pratityasamut pada ) All things are devoid of intrinsic
y P nature
(B) A layavijAana ()  Origin of non existent depending
yavil on reasons and causes
_— (1) All visible phenomena are
(C)  Chandra kirti nothing external but of our own mind
(D) Nagarjuna (IV) Madhyamika karika
Choose the correct answer from the options given below:
1) (A) - (), (B) - Iy, (€) - (m, (D) -
()
(2)  @A)-ay, (B - dam, () - av), @d - @O
(A)- (1, (B) - (v), (C) - (), (D) -
(3) (Il
(4) (A)-(IV), (B) - (), (€) - (m, (D) -
(1
Fft 12 =g geft 11 =1 e ifsm
T I =t 11
(A)  THIEEEERE @ ot =i w=wE @ T E
(B) AEEEA (II) =fFmEfEda 1 3mE 5% A3 wan w®
HraTE 2|
(C) g (IID) =i 7= IREZAT sed 7 779 791 2194 54
E
D) AFTH (IV) wreata e
Hr fau o faeperedl @ wE ST A = A
(1) A-@O. B - d, (© - dn, @O - av
2 @-@m ®G-dan © -av., Oy - O
3 @-dn @® -av. © -@O. @O - d@
9 @G-@o BH-0 © -0 @O —dDh

[Question ID = 5813][Question Description = Q68_Buddhist_SHAAN_NOV21]

1. 1 [Option ID = 22439]
2. 2 [Option ID = 22440]
3. 3 [Option ID = 22441]
4. 4 [Option ID = 22442]

Correct Answer :-
e 1 [Option ID = 22439]

Match List I with List IT:

ListI
(A) Vrahatkalpa
(B) Nayadhammakahad
(C) Jivajivabhigama

(D) Uttarajjhayana

List I
(D Anga
(II) Upanga
(IIT) Mulasttra

(IV) Cheadasitra

Choose the correct answer from the options given below:



(1) @A-av. @ —@O. (© —a. (O — Jm
@ (@A-@O (B -a, (€ - dm @O - 1)
(3) (A)—-dn. @ — {dm, © —av. @O - @O
(4) @A@-O @B - {dv), (©) — dn, ({O) — 1D
Tt 1% =ny gt 11 =1 faerm Fifm
TH I T 11
() FEewEA D s
(B) TR ) =am
(C) = Sfanam™ III) g=rga
(D) =TtsEEm (IV) r-wﬁl?.ﬂ:]
fr= f2u 1o e § 9E 3 0 9 A
1 @-@W. ®-O. (© - . D - Jm
2 A-@O. @® -dn, (© - {dn, @O - dvy
(3) (A)—-(1D. ® - dD. ©) - avy. @O - @
(4) Q) -@O ® - av), (© - ddn, () — dn

[Question ID = 5814][Question Description = Q69_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22443]
2. 2 [Option ID = 22444]
3. 3 [Option ID = 22445]
4. 4 [Option ID = 22446]

Correct Answer :-
e 1 [Option ID = 22443]

70) Match List | with List Il :

List | List Il
(A) Haribhadra Siri ()  Jain Tarka Bhasa
(B) Virsena () Adipurana

(C) Jinasena (lll) Dhavala Tika

(D) Yasovijaya (IvV) Sada-dar$ana Samuccaya

Choose the correct answer from the options given below:

1) (A)-@n, (@) - (), (€) - (), (D) -
v
) (A) - (), B) - (), (€) - @v), (D) -
(i
3)  (A)-(v), (B) - (), (€) - ), ((d) - O
(4) (A)-@am, B) - (av), (©) - (), (D) -
(n
Tt 1% @y gt 11 =1 e =fifsm
T I Tt 11
&) =framf @D o FFa
(B) == (II) g
(C) Twmm (L) e Fe



B

(D) === (IV) w==9 Tg=

I fzu v fameredl © 99 I @ == i

1  @-a. ® -0 (© - @D, D) - OV)
@  @-O ® -, (© - av) [ - a0
® @A-@). ® - 3D © -a. M -0
@ (@A-@D, B - @), © - @O {O - 1)

[Question ID = 5815][Question Description = Q70_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22447]
2. 2 [Option ID = 22448]
3. 3 [Option ID = 22449]
4. 4[Option ID = 22450]

Correct Answer :-
e 1 [Option ID = 22447]

71) Match List | with List Il :

List | List Il
(A) Gunavrata ) Prosadha
(B) Anuvrata () Stages of Householder
(C) Siks avrata () Satya
(D) Pratimas (IV) Bhogopabhoga

Choose the correct answer from the options given below:
(1) A)-qm, (B) - @v), (€) -y, @) - @)

) A)-a, @) -, (©) - @), (@ -

(1
3) :ﬁ«))-(“l), (B) - (IV), (C) - (1), (D) -
(4) :ﬁ«))-(lV), (B) - (I, (€) - (O, (D) -
=t [ % =iy g 11 1 e =hifem
TH I T 11
(&) TomEda (D Wy
(B) #aa (ID e 1 e
(C) Toearaa (IIT) ===
(D) =T (IV) SrTTam
Hr= fou o fasheredl @ wE1 ST 0 =9I i

1 @-dn. (B - av). (© - a). @O - d

2 @w-am. ® -0 (©-av. D - J1m
(3 @-danp ®-av. © -@o. @O - d
@ @-av. @ -dn © -@. @O - ad

[Question ID = 5816][Question Description = Q71_Buddhist_SHAAN_NOV21]
1 [Option ID = 22451]
2 [Option ID = 22452]
3 [Option ID = 22453]
4 [Option ID = 22454]

A w N -



Correct Answer :-
e 1 [Option ID = 22451]

72) Match List | with List Il :
List | List Il

(A) On the duty of Civil

| Krishna Kripalani
Disobedience U rishna Kripalani

(B) The Kingdom of God is within () Henry David Thoreau

you
(C) Unto this last (lll) Leo Tolstoy
(D) All men are Brothers (IV) John Ruskin

Choose the correct answer from the options given below:

(A) - (), (B) - (Iv), (C) - (), (D) -
(I

(A)-(m, (B) - @, (€) - @M, (D) -
(v

3)  (A)-ah, (B) - (), (€) - (), (D) -

(A)-@v), (B) - (),  (€) - (I, (D) -
(U))

4]

(2)

(4)

Tt 1% =19 g 11 1 e il

I o= 11
(&) ¥ 2 T A fafe feesitatsem @  Fom FEEE
B) zfFmaFTs= g (I =+ sfers am
(C) a1 fa@ @z (IID) form ziee=ra
(D) e B9 HW 5EH (IV) = e

A= fou T feteT] | "El 39 W =9 i

1 @W-0. ®-ada. © - ad. (@O - {dm
@ @-dpn @® -a, © -O @O - av
3 @-Jad. @ - dn © - av. @O - @

4 @W-am. ®-@O®. (© -dh @O - d

[Question ID = 5817][Question Description = Q72_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22455]
2. 2 [Option ID = 22456]
3. 3 [Option ID = 22457]
4. 4 [Option ID = 22458]

Correct Answer :-
e 1 [Option ID = 22455]

73) Match List | with List Il :
List | List Il

(A) Social Exclusion and Justice in

India ) Nico Slate

(B) The position of women in Hindu

I hL h
Civilization () Mersch Lauterpachts

(C) An International Bill of Rights of

() A.S. Altekar
man

(D) Gandhi’s Search for Perfect Diet (IV) P.S. Krishnan

Choose the correct answer from the options given below:



1) (A) - (), (B) - (), (€ - @, (D) -
v
(2)  (A)-(v), (B) - (), (€) - (), (D) - (N
(A)-@am, (B) - (av), (©) - (), (D) -
(3) (I
(A)-(n, (@) - (), (€) - (v), (D) -
) (I
Tt 1% =19 gt 11 =1 e =ifsm
A I T 10
(A) TO THEEFSA U3 FE2E o e @ ==z
(B) = Wifse 3116 go= 3 feg fafaemssom (II) = wzmweE
(C) UH SoHTHe Tt 311 W5z 317% 39 (IIT) ©.o5. FFeda
(D) TS #= FR a2 2 (IV) .o\, FoE
=2 f2u 7o faserel O TE 3w =9 A
1 A-0O ®-d, © -Jdan. O -avm
(2) @-a). ® - d)h. © - an. @d - @
(3 @AW-dDn B -av). ©)-@O®. @dO - a1
4 @A-da ®;-MO (© -av. @O - dm

[Question ID = 5818][Question Description = Q73_Buddhist_SHAAN_NOV21]

1. 1 [Option ID = 22459]
2. 2 [Option ID = 22460]
3. 3 [Option ID = 22461]
4. 4 [Option ID = 22462]

Correct Answer :-
e 1 [Option ID = 22459]

74) Match List | with List Il :
List |

(A) United Nation

(B)

(C) International Campaign for
Abolition of Nuclear Weapons (ICAN)

Green Peace International

List Il
0] Nuclear Disarmament
(II) International Peace and Security

(Ill) Sustainable Development goal

(D) Security Council (IV) Environmentalism
Choose the correct answer from the options given below:
1) (A) - (), (8) - (m, (€ -y, () -
(v)
2) (A)-an, (@) - @v), (© - @am, (@ - @
(A) - (), (B) - (v), (C) - (), (D) -
3) Iy
(4) (A)-(v), (B) - (I, (C) - (D, (D) -
1y
7=t 1% =y g=ht 11 =1 faem Fifsm
H_Eﬁl HﬁFTII
(A) wIF T T (@D A e
(B) i dE serTE=

(I ST=arEe it 37 Feer



(C) wHM HET +F I« wd AdgE 4EF  (III) T9d =FHE A5

(8 T oo,
(D) =vEd TR (IV) TAEERE
= T2u 7o faereal | TE 39 9EA i

0 @-O ® - ©-a @O -
@  A-a) ® - aV), (©) - @D, D) - O
® @-an ®-a. © -0 ® -
@ @-a) ® - @ ©-@O @O - JD

[Question ID = 5819][Question Description = Q74_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22463]
2. 2 [Option ID = 22464]
3. 3 [Option ID = 22465]
4. 4[Option ID = 22466]

Correct Answer :-
e 1 [Option ID = 22463]

75) Match List | with List Il :

List I List 1l

(A) India after Gandhi : The History of the World’s Largest Democracy (I) Bankimchandra Chattopadhyay

(B) Passage to India (I) Larry Collins and Dominique Lapierre
(C) Anandamath (1) EM Forster

(D) Freedom at Midnight (IV) Ramchandra Guha

Choose the correct answer from the options given below:
(1) (A) - (1), (B) - (I), (C) - (li), (D) - (IV)
(2) (A) - (ID), (B) - (IV), (C) - (1), (D) - (1)
(3) (A) - (), (B) - (1), (C) - (In), (D) - (IV)

(4) (A) - (IV), (B) - (llN), (C) - (1), (D) - (1D

gt 1% @ g 11 %1 foem it
A1 = 10
(A) sfem w3 R ATF 3 Avsd (D AFEA S Agmer
(B) TEw 7 e (IT) =1 Fifer= oS SIS A
(C) ¥H= 43 (IID) =.7H. T
(D) =y vz fisaEs (IV) THES TR
1= Tau U ErepereT @ ORI T = i

1 @W-O. @ -d). (©) - dn. D - IV
2 @A-da., ® -avm. © - @O. (D) - (Im
3 @-dn ®-@OM (© —-dada @O - av
@ @-m™ GB-d -0 @O -



[Question ID = 5820][Question Description = Q75_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22467]
2. 2 [Option ID = 22468]
3. 3 [Option ID = 22469]
4. 4 [Option ID = 22470]

Correct Answer :-
e 1 [Option ID = 22467]

76) Arrange the following kings in chronological order based on ascending the throne of Magadh.
(A) Bhatiya

(B) Bimbisara

(C) Ajatasatru

(D) Udayibhadda

(E) Anuruddhaka

Choose the correct answer from the options given below:
(1) (A), (B), (D), (C), (E)

(2) (A), (B), (C), (D), (E)

(3) (B), (C), (D), (E), (A)

(4) (B), (C), (D), (A), (E)

T T TIEE T AHEE 7 F R W AEfanad TuTE H FewaHEn by i
(A) W

®B) Taf=ER

(C) EEIGHE
(D) EREE

(E) sH=aF

I f2u T fase 5 | "E I F = Fia

1) A). B). D). (©). (E)
2 A).®B). (), D). (E)
3 (B (C). (D). (E). (Y

4 (B). (). (D). (A). (E)

[Question ID = 5821][Question Description = Q76_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22471]
2. 2 [Option ID = 22472]
3. 3 [Option ID = 22473]
4. 4 [Option ID = 22474]

Correct Answer :-
e 1 [Option ID = 22471]

77) Arrange the following chapters of Dhammapada in order of their occurance in the book
(A) Sukhvaggo
(B) Papavaggo

(C) Cittavoggo



(D) Attavaggo
(E) Buddhavoggo
Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E)
(2) (B), (D), (E), (A), (C)
(3) (C), (B), (D), (E), (A)
(4) (D), (E), (A), (B), (C)
TuE % FEfiEs SIS 1 79 ¥ 3996 Jooid T 9 & w0 ° Hatey Hi
(&) g
(B) T
() famam
(D)  FFE

&

(E) dgam

o)

Hi= feu o faeat 9 9 wE I o = i

(D (A). (B), (O). D). (E)
(2) (B). (D). (E). (A). (C)
3 (©).®B). D), ®, A
(4 (D). (E). (A). (B), (C)

[Question ID = 5822][Question Description = Q77_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22475]
2. 2 [Option ID = 22476]
3. 3 [Option ID = 22477]
4. 4 [Option ID = 22478]

Correct Answer :-
e 1 [Option ID = 22475]

78) Arrange the following in chronlogical order based on the life events of Atisa Dipankara
(A) Tibet

(B) Nalanda

(C) Odantapura

(D) Vikramasila

(E) Sahor, Eastern India

Choose the correct answer from the options given below:

(1) (B), (C), (D), (E), (A)

(2) (E), (B), (C), (D), (A)

(3) (E), (C), (D), (B), (A)

(4) (A), (B), (C), (D), (E)



(A)  Tosaa

B) TR
(C)  wAEaqm
(D)  TasAmTe

(B)  @er et wrd

= f2u v faseTt 5 | |18 3 F = Fia

1) (B).(C), (D). (E). (A)
2 (E).(B). (©). D). A)
(3)  (E). (C). (D). (B). (A4)
4)  (A). (B).(C). D). (E)

[Question ID = 5823][Question Description = Q78_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22479]

2. 2 [Option ID = 22480]

3. 3 [Option ID = 22481]

4. 4 [Option ID = 22482]

Correct Answer :-

e 1 [Option ID = 22479]

Identify the correct order of Pafica Vratas

{(A) Ahimsa

(B) Brahmacarva
(C) Anrta

(D) Asteya

(E)  Aparigraha

Choose the correct answer from the options given below:

1) (A). B). (). (D). (E)
(2 B).(0). D). E). A
(3)  (C). (D). (E). (B). (A)
4) Q). (C). D). B). (E)

(A) A
By wEEA
€ =

(D)  =F=A

(E) =miomE

e feu o fasedt # @ HE ST 0 =EA i

(1) (A). B). (C). (D). (E)
(2)  (B).(C). D). E). A



(3)  (C), (D). (E). (B). (A)
4 (A).(C). (D). (B). (E)

[Question ID = 5824][Question Description = Q79_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22483]
2. 2 [Option ID = 22484]
3. 3 [Option ID = 22485]
4. 4 [Option ID = 22486]

Correct Answer :-
e 1 [Option ID = 22483]

80) Arrange the following in chronological order from earliest to the more recent :

(A) Siddha-Hema- Sabdanusasana

(B) Jaina Tarkabhasa

(C) Astapahuda

(D) Sammaisuttam

(E) Dhartakhyana

Choose the correct answer from the options given below:

(1) (C), (E), (D), (B), (A)

(2) (C), (D), (E), (A), (B)

(3) (B), (C), (E), (D), (A)

(4) (A), (C), (D), (B), (E)
TAfeiiiad =1 e T9F HET TEHEaE § FEE00 6§ AT e
A fog - =9 - e
(B) = ThuI
(C) AEIES
(D) ==EE
(E) gam==E

Hie f3u U fasei 4§ @ 3T 0 == i

(1) (C). (E). (D). (B). (A)
2 (0. (D), (E). 4). (B)
3 (B (). (E). D). &)

(4 (A, (C). (D). (B), (E)
[Question ID = 5825][Question Description = Q80_Buddhist_SHAAN_NOV21]
1. 1

[Option ID = 22487]
2.2

[Option ID = 22488]
3.3

[Option ID = 22489]
4. 4

[Option ID = 22490]

Correct Answer :-
e 1



[Option ID = 22487]
81) lIdentify the correct sequence from first to last
(A) Sarhvara
(B) Moksa
(C) Asrava
(D) Jiva
(E) Nirjara
Choose the correct answer from the options given below:
(1) (B), (E), (A), (C), (D)
(2) (A), (C), (D), (E), (B)
(3) (D), (A), (C), (E), (B)

(4) (D), (C), (A), (E), (B)
UYH H A9 H5 FH H YEEi

@A) "=

®)

(€ e

D

(B) =

= f2u v fameTt 5 | w98 3 F = Fira

1) (B).E). . ©O. D)
2 (A). Q). [D). (E). (B)
(3) (D). (A). (). (E). (B)

4 (D). (C). (A). (E). (B)
[Question ID = 5826][Question Description = Q81_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22491]
2. 2 [Option ID = 22492]

3. 3 [Option ID = 22493]
4. 4 [Option ID = 22494]

Correct Answer :-
e 1 [Option ID = 22491]

82) Arrange the following conventions on race, women, migrant worker, disabled people and children which have been
added to the international instruments since 1960 s in a chronological order from 1st to 5th

(A) ICRMW
(B) CEDAW
(C) ICCERD
(D) CAT

(E) CRC



Choose the correct answer from the options given below:
(1) (C), (D), (B), (A), (E)
(2) (B), (A), (E), (D), (C)
(3) (C), (B), (D), (E), (A)

(4) (A), (B), (C), (E), (D)
e, HiEeN, WA HEE, O 997 s=a O Eiad AeEeE 99 1060 § SaeE foma o

Tieet T T, T FEFAEEN TE T UiEE o SET S| -
(A) % H AW T 55

B) HWidtiuzy

(© smdEdHiamS

®) wHuH

(E) | 5w =i

Hr f2u U fae o 9 w2 3 o = i

1) (C). (D). (B). (A). (E)
2 (B (A). (E). D). ©)
(3)  (C). (B). (D). (E). (A)
4 (A). B). (C). (E). (D)

[Question ID = 5827][Question Description = Q82_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22495]
2. 2 [Option ID = 22496]
3. 3 [Option ID = 22497]
4. 4 [Option ID = 22498]

Correct Answer :-
e 1 [Option ID = 22495]

83) Arrange the following in chronological order from the earliest to the latest

(A) Green pamphlet

(B) Transvaal British Indian Association

(C) Phoenix settlement

(D) Zulla Rebellion

(E) Natal Indian congress

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)

(2) (B), (A), (D), (C), (E)

(3) (D), (A), (E), (B), (C)

(4) (E), (A), (B), (C), (D)
Frefafaa =1 num 3 #f F FoOFaE a7 -
&)  ¥F T

B) ZEE faew =i vt



(C) Frig geeme
D) v Tl

(B) o sfema =ua

T2 f2u U fawe 4 | wE I = A

1) (A).(B). (©). (D). (E)
@  (B).A). D). ©.E
3 (D). (A). E). B). )
4 (E)(A). (B).(C). (D)

[Question ID = 5828][Question Description = Q83_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22499]
2. 2 [Option ID = 22500]
3. 3 [Option ID = 22501]
4. 4 [Option ID = 22502]

Correct Answer :-
e 1 [Option ID = 22499]

84) Arrange the following in a chronological order of their occurrence
(A) Berlin deadline crisis

(B) Suez crisis

(C) Sino-Soviet mssuri River conflict

(D) Cub an missile crisis

(E) Berlin Wall blocade

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)

(2) (C), (A), (D), (B), (E)

(3) (D), (E), (C), (A), (B)

(4) (B), (A), (E), (D), (C)

Fetefiaa 1 379 afcd 59 % STUN W Fesbaan =Eten i
(A) =i oI e

(B) oA Tz

(C)  =Hrfi—orfama =8 gud

(D) AT YA THE

(E) =i g a0y

Ji= fou o faweui 4 O wE 3 F1 ==A i

1) @A).®B).(C). (D). (E)
2 (0. (A). D). B). (E)
(3 (D). (E). (0. A). (B
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[Question ID = 5829][Question Description = Q84_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22503]
2. 2 [Option ID = 22504]
3. 3 [Option ID = 22505]
4. 4 [Option ID = 22506]

Correct Answer :-
e 1 [Option ID = 22503]

85) Arrange the following in a chronological order in order of their occurrence
(A) Operation parakram

(B) Kargil conflict

(C) Overt nuclearization of Southern Asia

(D) Parliament attack

(E) Mumbai attacks

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)

(2) (B), (D), (A), (E), (C)

(3) (C), (B), (D), (A), (E)

(4) (D), (B), (E), (C), (A)

Frefeifiga =1 339 afcd 259 & SAT9N 9 FHeshAET e Hifw
(A) I THA

B) T IG

(C)  =ferm wfomn =1 ¥ Afafrr

(D) HEE W EHE

(E) Tm=E 79

1= 2 U fasew | F WA I F1 = i

1) (A). ®B). (©). D). (E)
2y  (B). (D). A). E). (©)
(3)  (C). (B). (D). (A). (E)
4) (D). (B). E). (©). (A)

[Question ID = 5830][Question Description = Q85_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22507]
2. 2 [Option ID = 22508]
3. 3 [Option ID = 22509]
4. 4 [Option ID = 22510]

Correct Answer :-
e 1 [Option ID = 22507]

86) Given below are two statements One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Initially the remains of the Buddha were divided into Eight parts
Reason R: Later a manager from Mauryas came for their share of remains, and there was nothing left, he took the pieces
of coal which

Mauryas began to revere and placed in a stupa



In the light of the above statements,

choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4)  Ais not correct but R is correct

Hr= 71 o fao ™ 3| UF ATTFYT (Assertion A) F =7 ¥ foffag 2 @ 550 30+ F7 (Reason R) &+
=9H :

AT A ;. ARMTF =007 1 g % ST S 9 A favea e

FAOUR:  WEAE § GEEEI U 24 9 % =9 § A0 o oF s, 9fF e oft o T

oT, 9% FEA & PD ZHS AT WY o TN 2 IER] YA B o7 AT 36 UF w9 0 >

I U F AT °, = 25U 0 Tkl § 6 wew 3uge I B =S i)

(1) A %R R =M 931 2 317 R, A =1 551 =amew 2|
(2) A ¥R R &E 2 3R, A =i w8 =we 6 R
(3) Aw@d 2l R e @ 2

4 ATH T 2w R o A

[Question ID = 5831][Question Description = Q86_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22511]
2. 2 [Option ID = 22512]
3. 3 [Option ID = 22513]
4. 4 [Option ID = 22514]

Correct Answer :-
e 1 [Option ID = 22511]

87) Given below are two statements One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The statement that things are void must also be void since it is included in all things
Reason R : The voidness of the statement is established because of its being devoid of intrinsic nature
In the light of the above statements,

choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

=t 71 e fau T #| wh ARReE (Assertion A) % =9 H fofigd ® @i Eraptlier =m0 (Reason R) =

=0 H

ATTFYA A @ 75 FA 6 i 3 3, SEvaeg 9= 5 SR =i 58 @l i 8 wine e s 2

FAUR : =0 FA F T 9 =WETE =R § AR B 5 sl A 2

INAH HUA F ATAF H, 4 50 0 kel 3 8 wed 30 I 0 =9 Filau)



(1) A3 R 3 od # 3 R, A 1 w8 =men 2
(2) AN RIA G 7 AR R, A F = = T o2
(3) A 2 = R =R A B

(4) A T# F 7 @b R TE E

[Question ID = 5832][Question Description = Q87_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22515]
2. 2 [Option ID = 22516]
3. 3 [Option ID = 22517]
4. 4 [Option ID = 22518]

Correct Answer :-
e 1 [Option ID = 22515]

88) Given below are two statements:
Statement | : Vegetarianism is related with Ahimsa

Statement Il : The meaning of ‘Syat’ in the word syadvada is known as definitely

In the light of the above statements,

choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are correct.

(2) Both Statement | and Statement Il are incorrect.

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

1= 2 Hy fau  F)

F1 :  TIERER T HEY A 2

FEIl: TEEY TE 75 7 A9 HvEEneE 2

T FUA F ATAE 9, A 50 T e 8 8 e 39 S H = Fifa)

(1) = I 11 3 w8 3
()  =wu I A I 241 Ted 2|
(3) = 1= 7, AfF w9 I 7T 3
(4) =9 [ 7ed 2, e weE I TEl B

[Question ID = 5833][Question Description = Q88_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22519]
2. 2 [Option ID = 22520]
3. 3 [Option ID = 22521]
4. 4 [Option ID = 22522]

Correct Answer :-
e 1 [Option ID = 22519]

89) Given below are two statements:

Statement | : The good of the individual is contained in the good of all



Statement Il : That the Lawyer’s work has not the same value as the barber’s in as much as all have the same rights of
earning their livelihood from their work

In the light of the above statements,

choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are true.

(2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

= & e T o E

w1 : TRl =afEd Fi areaE aH i s=eE 5 A 2

FAIL: Tl Shicd % & %1 95w [HEl 915 % B % HEE A8 & =i TH B 9T BE h e
ATAEH B AT T AT 2|

IO U & AT 0, A9 3 T fameat 8 @ geE 39 S =0 i)

(1) T I &7 I 21 =981 7
(2) w3 I 3A1 7Ted 7
(8) w1 TF 2, @i oA 11 e 2

(4)  FF I 7eA =, A w9E I 98 7

[Question ID = 5834][Question Description = Q89_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22523]
2. 2 [Option ID = 22524]
3. 3 [Option ID = 22525]
4. 4 [Option ID = 22526]

Correct Answer :-
e 1 [Option ID = 22523]

90) Given below are two statements:

Statement | : Structural violence is a permanent state of violence which is embedded in the social, political and economic
structures that make up a society.

Statement Il : Due to its camouflaged nature, structural violence is also known as indirect violence.

In the light of the above statements,

choose the most appropriate answer from the options given below:
(1) Both Statement | and Statement Il are true.
(2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true
= =21 Foe 3w o F

r - v 5
I 3 e i, i, e LML (G,
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IUT FU F ATAF 4, A9 30 W e 9 1 e 3w 59 # =991 Fifan)

(1) =% I 3 I0 31 =Fi 21
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(3) w9 I oFl 7, o F9A I e 2
(4) =y I 7ed 2, S e I o 2

[Question ID = 5835][Question Description = Q90_Buddhist_SHAAN_NOV21]
. 1 [Option ID = 22527]
2 [Option ID = 22528]
3 [Option ID = 22529]
4 [Option ID = 22530]

A W N -

Correct Answer :-
e 1 [Option ID = 22527]

Topic:- 60Buddhist_B_New

1) Read the paragraph carefully and answer the question based on it :

It an intrinsic nature of things, whatever they may be, exists nowhere, your (very)
statement must be devoid of an intrinsic nature. It is not, therefore. in position to deny the
Intrinsic nature (of the things).

Whether in the cause. in the conditions, or in the combination of the causes and the
conditions, or in a different thing, nowhere exist an intrinsic nature of the things, whatever
they may be on this ground it is said that all things are void.

If the statement does not exist in the combination of the cause and the condition, or
independently of them, then the voidness of the things are established because of their being
devold of an intrinsic nature.

In these circumstances the statement :

“Because of the voidness of the statement it is not possible to establish the voidness of
all things™ 1s not vahd.

fau 0 =T F AT UfeU 3N qeIvET 38 W ST 9% 99 % I 3

ez weft segat i wrEEn, 5 o A 2, 99 B, a1 gee stheya o e g e w5 v T

2, FIAUT F7 TEGAT il FEEE T % Fea e F e A A 2

wt oft FwO (7)), A¥E G IS W T A 2 N U9 F oAM A, svEn T fam, | od fef

AfE 77 S T A1 7g 3 T F WA A 2, 7 A 99 T@ad ¢ a9 aegs H g s ww
? TR 3 A | W

3 afgea 8 77 wfuwer 39 79 2 5 Vw afiras i g F wRw ooft e i e snfia
Fe Tea @ 2l

The objection that because of the voidness of the statement, it is not possible to establish the voidness of all thing is

Choose the correct option from below
(1) Not valid

(2) Is valid

(3) Neither valid nor not valid

(4) Valid in combination of cause and condition

T e B safirrsm R gem # wr @fi ame B s e e gwg TE 2, F oHed o
0 SOSE o Sotdr Mo o, AR 1, 208, LSS s £ TL A
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[Question ID = 5836][Question Description = Q91_Buddhist_SHAAN_NOV21]
1.1

[Option ID = 22531]
2.2

[Option ID = 22532]
3.3

[Option ID = 22533]
4. 4

[Option ID = 22534]
Correct Answer :-
° 1

[Option ID = 22531]

Read the paragraph carefully and answer the question based on it :

It an intrinsic nature of things, whatever they may be, exists nowhere, your (very)
statement must be devoid of an intrinsic nature. It is not, therefore, in position to deny the
intrinsic nature (of the things).

Whether in the cause. in the conditions. or in the combination of the causes and the
conditions, or in a different thing., nowhere exist an intrinsic nature of the things, whatever
they may be on this ground it is said that all things are void.

If the statement does not exist In the combination of the cause and the condition. or
independently of them, then the voldness of the things are established because of their being
devoid of an intrinsic nature.

In these circumstances the statement :

“Because of the voidness of the statement 1t 1s not possible to establish the voldness of
all things” is not valid.

Tau 0 T w1 AEYES UiGU T qeavE 369 W ATHIG 9y dq% o ST G

afz wvft I it waEE, w6 = 2, 79 B, @ gew atiwe ot = | ea v vEn w6
%, WAUA TE AEGAT B ™ T g e T = R

St FEO (79), AU FG T4 T A I 74 IR 99 F HIAA A, S99 T fa=, = oof ff
=1, T F FEEEEE T2 e 5 @ suR W wm e 5 e g 2

a2 7z TR 7 | B HT U™ % WA 0 2, 7 2 T AT # a9 SegHl i g wnfe w2
2 it 9 T o e B

= Ul ¥ 7w sfaweE 99 76 2 ' atfierem Fi e % #no ol awen o s
w7 wvE @ 21

The things do exist nowhere because

(A) They do not exist in their causes and conditions

(B) They exist other than the combination of their causes and conditions

(C) They exist in the combination of their causes and condition

(D) Things do not exist in the combination of their causes and condition

(E) They donot exist other than the combination of their causes and condition
(1) (A), (B) and (D) only

(2) (A), (D) and (E) only

(3) (A), (C), (D) only



(4) (A), (B), (C) only
U Fwl o Aleaea | TE 7, =i
(A) =d AR ge A 9 fammE 6 2

(B) T T 7 ¥R U F AN & el e E)

(C) & = 24 3iR T=m & w9 | foaeme 2|
(D) T W A AR T F A A faemm @

fr= f2u m faegt 9 9 OF 3w =9 i

(1)  F=F (A). (B) A1 (D)
@  FAd (A), @) ¥ (E)
(3)  #ad (A), (C) =1l (D)
@  Fa (A). (B) F1(C)

[Question ID = 5837][Question Description = Q92_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22535]
2. 2 [Option ID = 22536]
3. 3 [Option ID = 22537]
4. 4 [Option ID = 22538]

Correct Answer :-
e 1 [Option ID = 22535]

Read the paragraph carefully and answer the question based on it :

It an intrinsic nature of things, whatever they may be, exists nowhere, your (very)
statement must be devoid of an intrinsic nature. It is not, therefore. in position to deny the
Intrinsic nature (of the things).

Whether in the cause. in the conditions, or in the combination of the causes and the
conditions, or in a different thing, nowhere exist an intrinsic nature of the things, whatever
they may be on this ground it is said that all things are void.

If the statement does not exist in the combination of the cause and the condition, or
independently of them. then the voidness of the things are established because of their being
devold of an intrinsic nature.

In these circumstances the statement :

“Because of the voidness of the statement it is not possible to establish the voidness of
all things™ 1s not vahd.

fau 70 TS F AT UfeU N deIvET 38 W ST 9 99 % I 3

e weft segat i wwEE, 5 W A 2, 99 i, a1 g sAtaeya Wi e 9 e =) v T8
2, FAUT F7 TEGAT il FEE T % Fua e F A 2

Wt A (F4), AW wG ToIF T T A£G AN oA F AN H, d9E T =, 5 off fuf
1, TG i FEEET T 2l 7 36 snan W wE =9 6 9w g 3

afe 77 ATTFYF T @1 79 I T4 F T A 2, T F T S0 7 99 g H gar e wwd
2 T F =E | T 2

37 afgeai 8 77 afuwer 39 785 2 5 Vw afius i g % e oft g fi g snfia
w7 g 72 217

Given below are two statement :
One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : All things are devoid of an intrinsic nature



Reason R : Things do not exist in their cause, condition, their combination or other from these cause and condition.
In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) Ais correct but R is not correct
(4) A is not correct but R is correct

e 21 e fam o E

AfaFea A - wfi e, =9E ° 15 2

FEOR ;95 F A 7 7 A 999 °, T A A % G40 °, @fow 399 99 29 37T 9099 F 5A 5

faremm %

I FUE F A 7, 919 58 10 Fwew § ¥ weE 39T I H 99 Hifn)

(1) A 3 R A 981 & 31t R, A i 98l =am=n 7

(2 A 3t R = @& # 31 R, A i "8 = 16 2|

(3) A= e R @#t 48 7

(4 A==l 2 =t R T8 2
[Question ID = 5838][Question Description = Q93_Buddhist_SHAAN_NOV21]
1 [Option ID = 22539]
2 [Option ID = 22540]

3 [Option ID = 22541]
4 [Option ID = 22542]

AN wnN -

Correct Answer :-
e 1 [Option ID = 22539]

Read the paragraph carefully and answer the question based on it :

It an intrinsic nature of things, whatever they may be, exists nowhere, your (very)
statement must be devoid of an intrinsic nature. It is not, therefore. in position to deny the
Intrinsic nature (of the things).

Whether in the cause. in the conditions. or in the combination of the causes and the
conditions, or in a different thing, nowhere exist an intrinsic nature of the things. whatever
they may be on this ground it is said that all things are void.

If the statement does not exist in the combination of the cause and the condition, or
independently of them. then the voidness of the things are established because of their being
devoid of an intrinsic nature.

In these circumstances the statement :

“Because of the voidness of the statement it is not possible to establish the voidness of
all things” 1s not vahd.

e weft sEgat i wEE, 5 W J 2, 99w, a1 g sAtawya Wi w9 e =) v T8

2, 3aua 7F FEgal i w=HE wan & g we F e w0 a6 2
ST off FEO (F4), A9 7G ToF TN 21 B9 AN AT | TAM H, AT T =, A A fRuf
71, FEg i EwEE A5 i 7 39 snaw w s = 6 awge g 3

afz 72 wfarus 7 a1 24 3 9T % TAm A 2, 9 A = waa a9 Teget g e A
# il 9 =uE ° 0w 7

37 ufigwal ° =7 wifase A9 79 2 B 57 st i g e ol A Fi g i
= wva TE Bl

Choose the correct option from below :

(1) Things do not exist in their cause and condition and exist other than those



(2) Things are void because they are devoid of an intrinsic nature
(3) The cause or the condition or the combination of the both, things exist other than these two

(4) Thing exist but it is not logically possible to prove it

freaferfaa ° = =@ fawen gfw

(1) =0 AF 74 31 I09F 4 T3 @ 7 Afed 79 9= faemm = 2)
(2) 9T I § Fiw 9 w=HE G e B

(3) =g HAUEA UeA AU T 21 GF0T 0 25qu g9 faert faeme we F)
(4)  =e Al | 2 W TR a6 ° fag TR R w1 a2

[Question ID = 5839][Question Description = Q94_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22543]
2. 2 [Option ID = 22544]
3. 3 [Option ID = 22545]
4. 4 [Option ID = 22546]

Correct Answer :-
e 1 [Option ID = 22543]

Read the paragraph carefully and answer the question based on it :

It an intrinsic nature of things, whatever they may be, exists nowhere, your (very)
statement must be devoid of an intrinsic nature. It is not, therefore. in position to deny the
Intrinsic nature (of the things).

Whether in the cause. in the conditions, or in the combination of the causes and the
conditions, or in a different thing, nowhere exist an intrinsic nature of the things, whatever
they may be on this ground it is said that all things are void.

If the statement does not exist in the combination of the cause and the condition, or
independently of them. then the voidness of the things are established because of their being
devold of an intrinsic nature.

In these circumstances the statement :

“Because of the voidness of the statement it is not possible to establish the voidness of
all things” 1s not vahd.

afe weft sEgat i wuEE, 5 W J 2, 99w, a1 g sAtawya Wi s | e =) v 16
2, 3IAUT F7 TEGAT il FE=AE T % ey e F R d A 2

w1 oft FW0 (Bq), A¥E B UM W T A 2 N TR F wAM A, svEn T fm, S oof el
=1, FEgH i EEET T8 2l 6 99 snan W s 9 6 9w g 3

afz 77 wfudus 7 a1 2 3 9o F oA A 2, 9 A = Tana a9 aeget $ g S w
® TR o =EE ° e B

3 Uiyl ° 77 wfawer 39 76 2 B e afwres i g & R ot i Fiogean w=nfie
= w48 2l

Given below are two statements :

Statement | : Whether in the causes and the conditions, or combination of both causes and the conditions, or in a different
thing, there exist an intrinstic nature of thing, whatever may be

Statement Il : If the statement does not exists in the combination of its causes and conditions, or independently of them,
then the voidness of the things are established

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement I1I is incorrect

4) Statement I is incorrect but Statement II is correct



Fr= 31 Fu fau o F)
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(2) wyE I 7 II 21 o 2
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[Question ID = 5840][Question Description = Q95_Buddhist_SHAAN_NOV21]
1.1

[Option ID = 22547]
2.2

[Option ID = 22548]
3.3

[Option ID = 22549]
4. 4

[Option ID = 22550]
Correct Answer :-
° 1

[Option ID = 22547]

Topic:- 60Buddhist_C_New

1) Read the given passage carefully and answer the question based on 1t :

In the field of element thinking Mahavira had proclaimed that every thing in the word is
subject to being created, being destroved and being sustained. That 1s, it 1= eternal-internal
with respect to material attributes it is eternal and with respect to its modal attributes it is
internal. This universe is comprised of six kind of substances — (1) Jiva (the living
substances), (2) Pudagala (the tangible non-living substances), (3) Dharma (the median of
motion). (4) Adharma (the median of position at rest). (5) Akasa (the accommodating space).
(6) Kala (the time matter). Mahavira said that there was no creator of this universe. These
six kind of substances create the universe. Therefore. this universe is substances beginning
less and endless and is self-evident.

In this universe, the Jivais live and conscious and all the rest are lifeless and without
consciousness. Mah&vira said that life or soul is not one but many. As heat is the nature of
fire. so the knowledge is the nature of the soul. The soul is the knower as well as the doer of
things and also the enjover or sufferer of the pleasant or unpleasant consequences of its
action.

A liberated soul also enjoys eternal bliss.

a-Tae % &9 A warEn H 3gE 91 % 54 w1 Uedw 3 Iene-sag-dieAed® 7, 99l e
SATTEE 2| Z59 0 A AU W A A S ¥ e B TR e S e w oA 2 - (1) 9, (2)

uZTE, (3) =, (4) 3, (5) s, (6) Hiel| "R 4w 6 3E e w0 wis giesl a6 2l 4 5
# = F I A B | TR A S-S 2 9 T g 21 36 S # FiE i a1 s a6



AR FEAT | EE =G YR & U ST 1wl
30 S § H" 949 7, 99h1 5 @9 g4 AP Tad S 7| HEEE 3 HE - SiE AYan A0 uh
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In Jainism, the characteristics of “Materialistic soul” substance is consists of

(A) JAianacetanayukta

(B) Karma-Mukta

(C) Nityanityaripa

(D) Sukha-Dukha separe

(E) Karta-Bhoktaripa

Choose the most appropriate answer from the options given below

(1) (A), (C) and (D) only

(2) (A), (B) and (E) only

(3) (A), (C) and (E) only

(4) (A), (C) and (D) only

A # e s 7= 5 e § 1_  -

(A) FAHE-TTAEF

B) -
(C)  Tiee=n
D) TE-F@IHW

(E)  FArqaEy

= fau v foekeal A | TG IUgFd I B =EA HOAC
(1) =4 (A), (C) == (D)
(2)  F39 (A). (B) 3T (E)
(3) =4 (A), (C) ¥ (E)

4) ¥4« (B), (C) 3R (D)

[Question ID = 5841][Question Description = Q96_Buddhist_SHAAN_NOV21]
1. 1 [Option ID = 22551]
2. 2 [Option ID = 22552]
3. 3 [Option ID = 22553]
4. 4 [Option ID = 22554]

Correct Answer :-
e 1 [Option ID = 22551]

Read the given passage carefully and answer the question based on 1t :

In the field of element thinking Mah&vira had proclaimed that every thing in the word is
subject to being created. being destroyed and being sustained. That is, it is eternal-internal
with respect to material attributes it is eternal and with respect to its modal attributes it 1s

internal. This universe is comprised of six kind of substances — (1) Jiva (the living



substances), (4) rudagala (the tangible non-lIving substances). (o) Unarma (tne median ol
motion). (4) Adharma (the median of position at rest). (5) Akasa (the accommodating space).
(6) Kala (the time matter). Mahavira said that there was no creator of this universe. These
six kind of substances create the universe. Therefore, this universe 1s substances beginning

less and endless and is self-evident.

In this universe, the Jivais live and conscious and all the rest are lifeless and without
consciousness. Mah&vira said that life or soul is not one but many. As heat is the nature of
fire, so the knowledge is the nature of the soul. The soul is the knower as well as the doer of
things and also the enjoyer or sufferer of the pleasant or unpleasant consequences of its

action.

A liberated soul also enjoys eternal bliss.
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The root cause of creation of the universe is
(1) Soul and knowledge

(2) Dharma and Adharma

(3) Six substances

(4) Seven elements
(1) e FE TE
(2) oY 3R 219
3 B:EA
(4) Hid a
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1. 1 [Option ID = 22555]
2. 2 [Option ID = 22556]
3. 3 [Option ID = 22557]
4. 4 [Option ID = 22558]

Correct Answer :-
e 1 [Option ID = 22555]

3)  Read the given passage carefully and answer the question hased on it :

In the field of element thinking Mahavira had proclaimed that every thing in the word is
subject to being created, being destroved and being sustained. That is, it is eternal-internal
with respect to material attributes it is eternal and with respect to its modal attributes 1t 1s
internal. This universe iz comprised of six kind of substances — (1) Jiva (the living
substances). (2) Pudagala (the tangible non-living substances). (3) Dharma (the median of
motion). (4) Adharma (the median of position at rest). (5) Akasa (the accommodating space).
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six kind of substances create the universe. Therefore. this universe is substances beginning
less and endless and is self-evident.

In this universe, the Jivais live and conscious and all the rest are lifeless and without
consciousness. Mah&vira said that life or soul is not one but many. As heat is the nature of
fire, so the knowledge is the nature of the soul. The soul is the knower as well as the doer of
things and also the enjoyer or sufferer of the pleasant or unpleasant consequences of its
action.

A liberated soul also enjoys eternal bliss.
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The main characteristics of ‘Substance’ is
(1) There is to beginning and end
(2) Nityanitya instead of Guna
(3) Nitya instead of paryaya

(4) Consits of utpada-vyaya-Dhrauvya
()  =E-ara
() o wE Feaaes
(3)  wEm #i wE Fe

4)  IEmR-TE-dEEE
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Correct Answer :-
e 1 [Option ID = 22559]

4)  Read the given passage carefully and answer the question based on it :

In the field of element thinking Mah&vira had proclaimed that every thing in the word is
subject to being created. being destroyed and being sustained. That is, it is eternal-internal
with respect to material attributes it is eternal and with respect to its modal attributes it 1s
internal. This universe is comprised of six kind of substances — (1) Jiva (the living
substances). (2) Pudagala (the tangible non-living substances). (3) Dharma (the median of
motion), (4) Adharma (the median of position at rest), (5) Akasa (the accommodating space).
(6) Kala (the time matter). Mahavira said that there was no creator of this universe. These

six kind of substances create the universe. Therefore. this universe is substances beginning



less and endless and is self-evident.

In this universe, the Jivais live and conscious and all the rest are lifeless and without
consciousness. Mah&vira said that life or soul is not one but many. As heat is the nature of
fire, so the knowledge is the nature of the soul. The soul is the knower as well as the doer of
things and also the enjoyer or sufferer of the pleasant or unpleasant consequences of its

action.

A liberated soul also enjoys eternal bliss.
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The kind of Ajiva substance are

(1 3
(2) 5
3 7
“4) 9
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Correct Answer :-
o 1

[Option ID = 22563]

5)  Read the given passage carefully and answer the question based on it :

In the field of element thinking Mahavira had proclaimed that every thing in the word is
subject to being created, being destroyed and being sustained. That is, it is eternal-internal
with respect to material attributes it is eternal and with respect to its modal attributes 1t 1s

internal. This universe is comprised of six kind of substances — (1) Jiva (the living



substances). (2) Pudagala (the tangible non-living substances). (3) Dharma (the median of
motion). (4) Adharma (the median of position at rest). (5) Akasa (the accommodating space).
(6) Kala (the time matter). Mahavira said that there was no creator of this universe. These
six kind of substances create the universe. Therefore. this universe is substances beginning

less and endless and is self-evident.

In this universe, the Jivais live and conscious and all the rest are lifeless and without
consciousness. Mah&vira said that life or =oul is not one but many. As heat is the nature of
fire, so the knowledge 1s the nature of the soul. The soul is the knower as well as the doer of
things and also the enjoyer or sufferer of the pleasant or unpleasant consequences of its

action.

A liberated soul also enjoys eternal bliss.
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The term used for ‘Loka’ is
(1) JAianatmaka

(2) Anadi-Ananta

(3) Guna-paryayaripa

(4) Sukha-Dukha ka Bhokta

YA % e Aw v v g E

]

(1) I+
(2)  AME-3EA
(3)  T-TEEE

(4)  TE-3E F g
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Correct Answer :-
e 1 [Option ID = 22567]





